

① $\begin{array}{r} 83 \\ \times 73 \\ \hline 6059 \end{array}$ ② $\begin{array}{r} 14 \\ \times 47 \\ \hline 658 \end{array}$ ③ $\begin{array}{r} 87 \\ \times 81 \\ \hline 7047 \end{array}$ ④ $\begin{array}{r} 14 \\ \times 63 \\ \hline 882 \end{array}$ ⑤ $\begin{array}{r} 31 \\ \times 58 \\ \hline 1798 \end{array}$ ⑥ $\begin{array}{r} 61 \\ \times 19 \\ \hline 1159 \end{array}$ ⑦ $\begin{array}{r} 19 \\ \times 81 \\ \hline 1539 \end{array}$ ⑧ $\begin{array}{r} 35 \\ \times 14 \\ \hline 490 \end{array}$ ⑨ $\begin{array}{r} 35 \\ \times 24 \\ \hline 840 \end{array}$ ⑩ $\begin{array}{r} 91 \\ \times 33 \\ \hline 3003 \end{array}$

⑪ $\begin{array}{r} 80 \\ \times 44 \\ \hline 3520 \end{array}$ ⑫ $\begin{array}{r} 48 \\ \times 18 \\ \hline 864 \end{array}$ ⑬ $\begin{array}{r} 60 \\ \times 72 \\ \hline 4320 \end{array}$ ⑭ $\begin{array}{r} 12 \\ \times 58 \\ \hline 696 \end{array}$ ⑮ $\begin{array}{r} 71 \\ \times 55 \\ \hline 3905 \end{array}$ ⑯ $\begin{array}{r} 56 \\ \times 51 \\ \hline 2856 \end{array}$ ⑰ $\begin{array}{r} 41 \\ \times 46 \\ \hline 1886 \end{array}$ ⑱ $\begin{array}{r} 34 \\ \times 15 \\ \hline 510 \end{array}$ ⑲ $\begin{array}{r} 31 \\ \times 98 \\ \hline 3038 \end{array}$ ⑳ $\begin{array}{r} 15 \\ \times 45 \\ \hline 675 \end{array}$

㉑ $\begin{array}{r} 42 \\ \times 54 \\ \hline 2268 \end{array}$ ㉒ $\begin{array}{r} 24 \\ \times 52 \\ \hline 1248 \end{array}$ ㉓ $\begin{array}{r} 19 \\ \times 80 \\ \hline 1520 \end{array}$ ㉔ $\begin{array}{r} 51 \\ \times 77 \\ \hline 3927 \end{array}$ ㉕ $\begin{array}{r} 16 \\ \times 19 \\ \hline 304 \end{array}$ ㉖ $\begin{array}{r} 27 \\ \times 71 \\ \hline 1917 \end{array}$ ㉗ $\begin{array}{r} 50 \\ \times 42 \\ \hline 2100 \end{array}$ ㉘ $\begin{array}{r} 23 \\ \times 73 \\ \hline 1679 \end{array}$ ㉙ $\begin{array}{r} 46 \\ \times 51 \\ \hline 2346 \end{array}$ ㉚ $\begin{array}{r} 39 \\ \times 18 \\ \hline 702 \end{array}$

㉛ $\begin{array}{r} 34 \\ \times 70 \\ \hline 2380 \end{array}$ ㉜ $\begin{array}{r} 33 \\ \times 18 \\ \hline 594 \end{array}$ ㉝ $\begin{array}{r} 12 \\ \times 39 \\ \hline 468 \end{array}$ ㉞ $\begin{array}{r} 81 \\ \times 36 \\ \hline 2916 \end{array}$ ㉟ $\begin{array}{r} 31 \\ \times 53 \\ \hline 1643 \end{array}$ ㊱ $\begin{array}{r} 14 \\ \times 53 \\ \hline 742 \end{array}$ ㊲ $\begin{array}{r} 58 \\ \times 17 \\ \hline 986 \end{array}$ ㊳ $\begin{array}{r} 96 \\ \times 20 \\ \hline 1920 \end{array}$ ㊴ $\begin{array}{r} 99 \\ \times 21 \\ \hline 2079 \end{array}$ ㊵ $\begin{array}{r} 70 \\ \times 74 \\ \hline 5180 \end{array}$

㊶ $\begin{array}{r} 99 \\ \times 40 \\ \hline 3960 \end{array}$ ㊷ $\begin{array}{r} 30 \\ \times 65 \\ \hline 1950 \end{array}$ ㊸ $\begin{array}{r} 54 \\ \times 71 \\ \hline 3834 \end{array}$ ㊹ $\begin{array}{r} 71 \\ \times 77 \\ \hline 5467 \end{array}$ ㊺ $\begin{array}{r} 65 \\ \times 80 \\ \hline 5200 \end{array}$ ㊻ $\begin{array}{r} 24 \\ \times 82 \\ \hline 1968 \end{array}$ ㊼ $\begin{array}{r} 15 \\ \times 15 \\ \hline 225 \end{array}$ ㊽ $\begin{array}{r} 81 \\ \times 44 \\ \hline 3564 \end{array}$ ㊾ $\begin{array}{r} 57 \\ \times 60 \\ \hline 3420 \end{array}$ ㊿ $\begin{array}{r} 45 \\ \times 91 \\ \hline 4095 \end{array}$

① $\begin{array}{r} 95 \\ \times 20 \\ \hline 1900 \end{array}$ ② $\begin{array}{r} 68 \\ \times 41 \\ \hline 2788 \end{array}$ ③ $\begin{array}{r} 19 \\ \times 26 \\ \hline 494 \end{array}$ ④ $\begin{array}{r} 16 \\ \times 48 \\ \hline 768 \end{array}$ ⑤ $\begin{array}{r} 30 \\ \times 39 \\ \hline 1170 \end{array}$ ⑥ $\begin{array}{r} 80 \\ \times 14 \\ \hline 1120 \end{array}$ ⑦ $\begin{array}{r} 21 \\ \times 95 \\ \hline 1995 \end{array}$ ⑧ $\begin{array}{r} 81 \\ \times 72 \\ \hline 5832 \end{array}$ ⑨ $\begin{array}{r} 25 \\ \times 24 \\ \hline 600 \end{array}$ ⑩ $\begin{array}{r} 19 \\ \times 34 \\ \hline 646 \end{array}$

⑪ $\begin{array}{r} 90 \\ \times 43 \\ \hline 3870 \end{array}$ ⑫ $\begin{array}{r} 29 \\ \times 50 \\ \hline 1450 \end{array}$ ⑬ $\begin{array}{r} 31 \\ \times 89 \\ \hline 2759 \end{array}$ ⑭ $\begin{array}{r} 62 \\ \times 93 \\ \hline 5766 \end{array}$ ⑮ $\begin{array}{r} 33 \\ \times 26 \\ \hline 858 \end{array}$ ⑯ $\begin{array}{r} 17 \\ \times 46 \\ \hline 782 \end{array}$ ⑰ $\begin{array}{r} 40 \\ \times 73 \\ \hline 2920 \end{array}$ ⑱ $\begin{array}{r} 38 \\ \times 81 \\ \hline 3078 \end{array}$ ⑲ $\begin{array}{r} 23 \\ \times 63 \\ \hline 1449 \end{array}$ ⑳ $\begin{array}{r} 96 \\ \times 31 \\ \hline 2976 \end{array}$

㉑ $\begin{array}{r} 63 \\ \times 91 \\ \hline 5733 \end{array}$ ㉒ $\begin{array}{r} 61 \\ \times 32 \\ \hline 1952 \end{array}$ ㉓ $\begin{array}{r} 32 \\ \times 44 \\ \hline 1408 \end{array}$ ㉔ $\begin{array}{r} 34 \\ \times 62 \\ \hline 2108 \end{array}$ ㉕ $\begin{array}{r} 28 \\ \times 17 \\ \hline 476 \end{array}$ ㉖ $\begin{array}{r} 68 \\ \times 91 \\ \hline 6188 \end{array}$ ㉗ $\begin{array}{r} 30 \\ \times 95 \\ \hline 2850 \end{array}$ ㉘ $\begin{array}{r} 90 \\ \times 83 \\ \hline 7470 \end{array}$ ㉙ $\begin{array}{r} 25 \\ \times 19 \\ \hline 475 \end{array}$ ㉚ $\begin{array}{r} 12 \\ \times 84 \\ \hline 1008 \end{array}$

㉛ $\begin{array}{r} 39 \\ \times 50 \\ \hline 1950 \end{array}$ ㉜ $\begin{array}{r} 60 \\ \times 28 \\ \hline 1680 \end{array}$ ㉝ $\begin{array}{r} 19 \\ \times 36 \\ \hline 684 \end{array}$ ㉞ $\begin{array}{r} 45 \\ \times 60 \\ \hline 2700 \end{array}$ ㉟ $\begin{array}{r} 77 \\ \times 51 \\ \hline 3927 \end{array}$ ㊱ $\begin{array}{r} 91 \\ \times 35 \\ \hline 3185 \end{array}$ ㊲ $\begin{array}{r} 62 \\ \times 64 \\ \hline 3968 \end{array}$ ㊳ $\begin{array}{r} 81 \\ \times 87 \\ \hline 7047 \end{array}$ ㊴ $\begin{array}{r} 47 \\ \times 16 \\ \hline 752 \end{array}$ ㊵ $\begin{array}{r} 50 \\ \times 72 \\ \hline 3600 \end{array}$

㊶ $\begin{array}{r} 26 \\ \times 35 \\ \hline 910 \end{array}$ ㊷ $\begin{array}{r} 13 \\ \times 46 \\ \hline 598 \end{array}$ ㊸ $\begin{array}{r} 15 \\ \times 38 \\ \hline 570 \end{array}$ ㊹ $\begin{array}{r} 91 \\ \times 79 \\ \hline 7189 \end{array}$ ㊺ $\begin{array}{r} 61 \\ \times 48 \\ \hline 2928 \end{array}$ ㊻ $\begin{array}{r} 41 \\ \times 71 \\ \hline 2911 \end{array}$ ㊼ $\begin{array}{r} 81 \\ \times 13 \\ \hline 1053 \end{array}$ ㊽ $\begin{array}{r} 81 \\ \times 53 \\ \hline 4293 \end{array}$ ㊾ $\begin{array}{r} 91 \\ \times 95 \\ \hline 8645 \end{array}$ ㊿ $\begin{array}{r} 16 \\ \times 36 \\ \hline 576 \end{array}$

① $\begin{array}{r} 62 \\ \times 82 \\ \hline 5084 \end{array}$ ② $\begin{array}{r} 60 \\ \times 38 \\ \hline 2280 \end{array}$ ③ $\begin{array}{r} 76 \\ \times 50 \\ \hline 3800 \end{array}$ ④ $\begin{array}{r} 39 \\ \times 16 \\ \hline 624 \end{array}$ ⑤ $\begin{array}{r} 46 \\ \times 61 \\ \hline 2806 \end{array}$ ⑥ $\begin{array}{r} 47 \\ \times 81 \\ \hline 3807 \end{array}$ ⑦ $\begin{array}{r} 74 \\ \times 72 \\ \hline 5328 \end{array}$ ⑧ $\begin{array}{r} 93 \\ \times 33 \\ \hline 3069 \end{array}$ ⑨ $\begin{array}{r} 22 \\ \times 15 \\ \hline 330 \end{array}$ ⑩ $\begin{array}{r} 59 \\ \times 70 \\ \hline 4130 \end{array}$

⑪ $\begin{array}{r} 13 \\ \times 68 \\ \hline 884 \end{array}$ ⑫ $\begin{array}{r} 35 \\ \times 17 \\ \hline 595 \end{array}$ ⑬ $\begin{array}{r} 81 \\ \times 25 \\ \hline 2025 \end{array}$ ⑭ $\begin{array}{r} 37 \\ \times 16 \\ \hline 592 \end{array}$ ⑮ $\begin{array}{r} 54 \\ \times 50 \\ \hline 2700 \end{array}$ ⑯ $\begin{array}{r} 38 \\ \times 22 \\ \hline 836 \end{array}$ ⑰ $\begin{array}{r} 91 \\ \times 38 \\ \hline 3458 \end{array}$ ⑱ $\begin{array}{r} 71 \\ \times 78 \\ \hline 5538 \end{array}$ ⑲ $\begin{array}{r} 55 \\ \times 60 \\ \hline 3300 \end{array}$ ⑳ $\begin{array}{r} 41 \\ \times 97 \\ \hline 3977 \end{array}$

㉑ $\begin{array}{r} 47 \\ \times 40 \\ \hline 1880 \end{array}$ ㉒ $\begin{array}{r} 32 \\ \times 82 \\ \hline 2624 \end{array}$ ㉓ $\begin{array}{r} 73 \\ \times 33 \\ \hline 2409 \end{array}$ ㉔ $\begin{array}{r} 15 \\ \times 34 \\ \hline 510 \end{array}$ ㉕ $\begin{array}{r} 29 \\ \times 29 \\ \hline 841 \end{array}$ ㉖ $\begin{array}{r} 31 \\ \times 71 \\ \hline 2201 \end{array}$ ㉗ $\begin{array}{r} 17 \\ \times 14 \\ \hline 238 \end{array}$ ㉘ $\begin{array}{r} 90 \\ \times 57 \\ \hline 5130 \end{array}$ ㉙ $\begin{array}{r} 38 \\ \times 31 \\ \hline 1178 \end{array}$ ㉚ $\begin{array}{r} 89 \\ \times 21 \\ \hline 1869 \end{array}$

㉛ $\begin{array}{r} 61 \\ \times 64 \\ \hline 3904 \end{array}$ ㉜ $\begin{array}{r} 64 \\ \times 72 \\ \hline 4608 \end{array}$ ㉝ $\begin{array}{r} 34 \\ \times 71 \\ \hline 2414 \end{array}$ ㉞ $\begin{array}{r} 90 \\ \times 29 \\ \hline 2610 \end{array}$ ㉟ $\begin{array}{r} 68 \\ \times 51 \\ \hline 3468 \end{array}$ ㊱ $\begin{array}{r} 43 \\ \times 14 \\ \hline 602 \end{array}$ ㊲ $\begin{array}{r} 55 \\ \times 14 \\ \hline 770 \end{array}$ ㊳ $\begin{array}{r} 43 \\ \times 50 \\ \hline 2150 \end{array}$ ㊴ $\begin{array}{r} 38 \\ \times 41 \\ \hline 1558 \end{array}$ ㊵ $\begin{array}{r} 31 \\ \times 63 \\ \hline 1953 \end{array}$

㊶ $\begin{array}{r} 61 \\ \times 61 \\ \hline 3721 \end{array}$ ㊷ $\begin{array}{r} 32 \\ \times 82 \\ \hline 2624 \end{array}$ ㊸ $\begin{array}{r} 54 \\ \times 21 \\ \hline 1134 \end{array}$ ㊹ $\begin{array}{r} 63 \\ \times 71 \\ \hline 4473 \end{array}$ ㊺ $\begin{array}{r} 76 \\ \times 80 \\ \hline 6080 \end{array}$ ㊻ $\begin{array}{r} 48 \\ \times 17 \\ \hline 816 \end{array}$ ㊼ $\begin{array}{r} 54 \\ \times 61 \\ \hline 3294 \end{array}$ ㊽ $\begin{array}{r} 15 \\ \times 47 \\ \hline 705 \end{array}$ ㊾ $\begin{array}{r} 34 \\ \times 25 \\ \hline 850 \end{array}$ ㊿ $\begin{array}{r} 55 \\ \times 40 \\ \hline 2200 \end{array}$

① $\begin{array}{r} 33 \\ \times 16 \\ \hline 528 \end{array}$ ② $\begin{array}{r} 44 \\ \times 15 \\ \hline 660 \end{array}$ ③ $\begin{array}{r} 19 \\ \times 23 \\ \hline 437 \end{array}$ ④ $\begin{array}{r} 57 \\ \times 16 \\ \hline 912 \end{array}$ ⑤ $\begin{array}{r} 35 \\ \times 71 \\ \hline 2485 \end{array}$ ⑥ $\begin{array}{r} 75 \\ \times 21 \\ \hline 1575 \end{array}$ ⑦ $\begin{array}{r} 80 \\ \times 92 \\ \hline 7360 \end{array}$ ⑧ $\begin{array}{r} 36 \\ \times 30 \\ \hline 1080 \end{array}$ ⑨ $\begin{array}{r} 22 \\ \times 90 \\ \hline 1980 \end{array}$ ⑩ $\begin{array}{r} 74 \\ \times 31 \\ \hline 2294 \end{array}$

⑪ $\begin{array}{r} 94 \\ \times 52 \\ \hline 4888 \end{array}$ ⑫ $\begin{array}{r} 30 \\ \times 64 \\ \hline 1920 \end{array}$ ⑬ $\begin{array}{r} 59 \\ \times 51 \\ \hline 3009 \end{array}$ ⑭ $\begin{array}{r} 15 \\ \times 24 \\ \hline 360 \end{array}$ ⑮ $\begin{array}{r} 19 \\ \times 14 \\ \hline 266 \end{array}$ ⑯ $\begin{array}{r} 90 \\ \times 53 \\ \hline 4770 \end{array}$ ⑰ $\begin{array}{r} 30 \\ \times 86 \\ \hline 2580 \end{array}$ ⑱ $\begin{array}{r} 31 \\ \times 69 \\ \hline 2139 \end{array}$ ⑲ $\begin{array}{r} 47 \\ \times 15 \\ \hline 705 \end{array}$ ⑳ $\begin{array}{r} 32 \\ \times 64 \\ \hline 2048 \end{array}$

㉑ $\begin{array}{r} 34 \\ \times 15 \\ \hline 510 \end{array}$ ㉒ $\begin{array}{r} 82 \\ \times 73 \\ \hline 5986 \end{array}$ ㉓ $\begin{array}{r} 32 \\ \times 81 \\ \hline 2592 \end{array}$ ㉔ $\begin{array}{r} 34 \\ \times 51 \\ \hline 1734 \end{array}$ ㉕ $\begin{array}{r} 92 \\ \times 93 \\ \hline 8556 \end{array}$ ㉖ $\begin{array}{r} 61 \\ \times 47 \\ \hline 2867 \end{array}$ ㉗ $\begin{array}{r} 90 \\ \times 23 \\ \hline 2070 \end{array}$ ㉘ $\begin{array}{r} 60 \\ \times 24 \\ \hline 1440 \end{array}$ ㉙ $\begin{array}{r} 90 \\ \times 87 \\ \hline 7830 \end{array}$ ㉚ $\begin{array}{r} 37 \\ \times 17 \\ \hline 629 \end{array}$

㉛ $\begin{array}{r} 30 \\ \times 34 \\ \hline 1020 \end{array}$ ㉜ $\begin{array}{r} 14 \\ \times 91 \\ \hline 1274 \end{array}$ ㉝ $\begin{array}{r} 58 \\ \times 40 \\ \hline 2320 \end{array}$ ㉞ $\begin{array}{r} 29 \\ \times 28 \\ \hline 812 \end{array}$ ㉟ $\begin{array}{r} 21 \\ \times 64 \\ \hline 1344 \end{array}$ ㊱ $\begin{array}{r} 17 \\ \times 28 \\ \hline 476 \end{array}$ ㊲ $\begin{array}{r} 67 \\ \times 51 \\ \hline 3417 \end{array}$ ㊳ $\begin{array}{r} 45 \\ \times 81 \\ \hline 3645 \end{array}$ ㊴ $\begin{array}{r} 82 \\ \times 64 \\ \hline 5248 \end{array}$ ㊵ $\begin{array}{r} 42 \\ \times 62 \\ \hline 2604 \end{array}$

㊶ $\begin{array}{r} 15 \\ \times 23 \\ \hline 345 \end{array}$ ㊷ $\begin{array}{r} 15 \\ \times 90 \\ \hline 1350 \end{array}$ ㊸ $\begin{array}{r} 80 \\ \times 13 \\ \hline 1040 \end{array}$ ㊹ $\begin{array}{r} 22 \\ \times 70 \\ \hline 1540 \end{array}$ ㊺ $\begin{array}{r} 90 \\ \times 54 \\ \hline 4860 \end{array}$ ㊻ $\begin{array}{r} 84 \\ \times 61 \\ \hline 5124 \end{array}$ ㊼ $\begin{array}{r} 55 \\ \times 71 \\ \hline 3905 \end{array}$ ㊽ $\begin{array}{r} 41 \\ \times 66 \\ \hline 2706 \end{array}$ ㊾ $\begin{array}{r} 24 \\ \times 91 \\ \hline 2184 \end{array}$ ㊿ $\begin{array}{r} 43 \\ \times 83 \\ \hline 3569 \end{array}$

① $\begin{array}{r} 80 \\ \times 13 \\ \hline 1040 \end{array}$ ② $\begin{array}{r} 71 \\ \times 71 \\ \hline 5041 \end{array}$ ③ $\begin{array}{r} 26 \\ \times 25 \\ \hline 650 \end{array}$ ④ $\begin{array}{r} 89 \\ \times 21 \\ \hline 1869 \end{array}$ ⑤ $\begin{array}{r} 23 \\ \times 34 \\ \hline 782 \end{array}$ ⑥ $\begin{array}{r} 12 \\ \times 39 \\ \hline 468 \end{array}$ ⑦ $\begin{array}{r} 91 \\ \times 31 \\ \hline 2821 \end{array}$ ⑧ $\begin{array}{r} 51 \\ \times 94 \\ \hline 4794 \end{array}$ ⑨ $\begin{array}{r} 27 \\ \times 36 \\ \hline 972 \end{array}$ ⑩ $\begin{array}{r} 64 \\ \times 32 \\ \hline 2048 \end{array}$

⑪ $\begin{array}{r} 38 \\ \times 18 \\ \hline 684 \end{array}$ ⑫ $\begin{array}{r} 51 \\ \times 51 \\ \hline 2601 \end{array}$ ⑬ $\begin{array}{r} 73 \\ \times 43 \\ \hline 3139 \end{array}$ ⑭ $\begin{array}{r} 44 \\ \times 31 \\ \hline 1364 \end{array}$ ⑮ $\begin{array}{r} 81 \\ \times 84 \\ \hline 6804 \end{array}$ ⑯ $\begin{array}{r} 91 \\ \times 55 \\ \hline 5005 \end{array}$ ⑰ $\begin{array}{r} 80 \\ \times 65 \\ \hline 5200 \end{array}$ ⑱ $\begin{array}{r} 41 \\ \times 96 \\ \hline 3936 \end{array}$ ⑲ $\begin{array}{r} 91 \\ \times 65 \\ \hline 5915 \end{array}$ ⑳ $\begin{array}{r} 90 \\ \times 78 \\ \hline 7020 \end{array}$

㉑ $\begin{array}{r} 81 \\ \times 48 \\ \hline 3888 \end{array}$ ㉒ $\begin{array}{r} 58 \\ \times 16 \\ \hline 928 \end{array}$ ㉓ $\begin{array}{r} 98 \\ \times 11 \\ \hline 1078 \end{array}$ ㉔ $\begin{array}{r} 54 \\ \times 91 \\ \hline 4914 \end{array}$ ㉕ $\begin{array}{r} 68 \\ \times 30 \\ \hline 2040 \end{array}$ ㉖ $\begin{array}{r} 14 \\ \times 92 \\ \hline 1288 \end{array}$ ㉗ $\begin{array}{r} 54 \\ \times 70 \\ \hline 3780 \end{array}$ ㉘ $\begin{array}{r} 25 \\ \times 35 \\ \hline 875 \end{array}$ ㉙ $\begin{array}{r} 33 \\ \times 41 \\ \hline 1353 \end{array}$ ㉚ $\begin{array}{r} 26 \\ \times 15 \\ \hline 390 \end{array}$

㉛ $\begin{array}{r} 32 \\ \times 27 \\ \hline 864 \end{array}$ ㉜ $\begin{array}{r} 69 \\ \times 91 \\ \hline 6279 \end{array}$ ㉝ $\begin{array}{r} 92 \\ \times 14 \\ \hline 1288 \end{array}$ ㉞ $\begin{array}{r} 88 \\ \times 50 \\ \hline 4400 \end{array}$ ㉟ $\begin{array}{r} 16 \\ \times 62 \\ \hline 992 \end{array}$ ㊱ $\begin{array}{r} 55 \\ \times 81 \\ \hline 4455 \end{array}$ ㊲ $\begin{array}{r} 22 \\ \times 70 \\ \hline 1540 \end{array}$ ㊳ $\begin{array}{r} 45 \\ \times 18 \\ \hline 810 \end{array}$ ㊴ $\begin{array}{r} 70 \\ \times 37 \\ \hline 2590 \end{array}$ ㊵ $\begin{array}{r} 28 \\ \times 23 \\ \hline 644 \end{array}$

㊶ $\begin{array}{r} 74 \\ \times 82 \\ \hline 6068 \end{array}$ ㊷ $\begin{array}{r} 80 \\ \times 44 \\ \hline 3520 \end{array}$ ㊸ $\begin{array}{r} 62 \\ \times 43 \\ \hline 2666 \end{array}$ ㊹ $\begin{array}{r} 24 \\ \times 24 \\ \hline 576 \end{array}$ ㊺ $\begin{array}{r} 34 \\ \times 70 \\ \hline 2380 \end{array}$ ㊻ $\begin{array}{r} 42 \\ \times 51 \\ \hline 2142 \end{array}$ ㊼ $\begin{array}{r} 88 \\ \times 80 \\ \hline 7040 \end{array}$ ㊽ $\begin{array}{r} 27 \\ \times 32 \\ \hline 864 \end{array}$ ㊾ $\begin{array}{r} 99 \\ \times 11 \\ \hline 1089 \end{array}$ ㊿ $\begin{array}{r} 23 \\ \times 39 \\ \hline 897 \end{array}$

① $\begin{array}{r} 52 \\ \times 93 \\ \hline 4836 \end{array}$ ② $\begin{array}{r} 39 \\ \times 16 \\ \hline 624 \end{array}$ ③ $\begin{array}{r} 93 \\ \times 52 \\ \hline 4836 \end{array}$ ④ $\begin{array}{r} 28 \\ \times 24 \\ \hline 672 \end{array}$ ⑤ $\begin{array}{r} 79 \\ \times 61 \\ \hline 4819 \end{array}$ ⑥ $\begin{array}{r} 78 \\ \times 31 \\ \hline 2418 \end{array}$ ⑦ $\begin{array}{r} 72 \\ \times 64 \\ \hline 4608 \end{array}$ ⑧ $\begin{array}{r} 71 \\ \times 94 \\ \hline 6674 \end{array}$ ⑨ $\begin{array}{r} 23 \\ \times 37 \\ \hline 851 \end{array}$ ⑩ $\begin{array}{r} 86 \\ \times 91 \\ \hline 7826 \end{array}$

⑪ $\begin{array}{r} 51 \\ \times 91 \\ \hline 4641 \end{array}$ ⑫ $\begin{array}{r} 43 \\ \times 63 \\ \hline 2709 \end{array}$ ⑬ $\begin{array}{r} 81 \\ \times 53 \\ \hline 4293 \end{array}$ ⑭ $\begin{array}{r} 71 \\ \times 34 \\ \hline 2414 \end{array}$ ⑮ $\begin{array}{r} 31 \\ \times 49 \\ \hline 1519 \end{array}$ ⑯ $\begin{array}{r} 66 \\ \times 70 \\ \hline 4620 \end{array}$ ⑰ $\begin{array}{r} 59 \\ \times 14 \\ \hline 826 \end{array}$ ⑱ $\begin{array}{r} 54 \\ \times 50 \\ \hline 2700 \end{array}$ ⑲ $\begin{array}{r} 90 \\ \times 86 \\ \hline 7740 \end{array}$ ⑳ $\begin{array}{r} 35 \\ \times 28 \\ \hline 980 \end{array}$

㉑ $\begin{array}{r} 49 \\ \times 71 \\ \hline 3479 \end{array}$ ㉒ $\begin{array}{r} 14 \\ \times 53 \\ \hline 742 \end{array}$ ㉓ $\begin{array}{r} 52 \\ \times 19 \\ \hline 988 \end{array}$ ㉔ $\begin{array}{r} 18 \\ \times 42 \\ \hline 756 \end{array}$ ㉕ $\begin{array}{r} 99 \\ \times 61 \\ \hline 6039 \end{array}$ ㉖ $\begin{array}{r} 61 \\ \times 24 \\ \hline 1464 \end{array}$ ㉗ $\begin{array}{r} 70 \\ \times 29 \\ \hline 2030 \end{array}$ ㉘ $\begin{array}{r} 34 \\ \times 50 \\ \hline 1700 \end{array}$ ㉙ $\begin{array}{r} 20 \\ \times 95 \\ \hline 1900 \end{array}$ ㉚ $\begin{array}{r} 61 \\ \times 27 \\ \hline 1647 \end{array}$

㉛ $\begin{array}{r} 37 \\ \times 14 \\ \hline 518 \end{array}$ ㉜ $\begin{array}{r} 50 \\ \times 39 \\ \hline 1950 \end{array}$ ㉝ $\begin{array}{r} 44 \\ \times 61 \\ \hline 2684 \end{array}$ ㉞ $\begin{array}{r} 32 \\ \times 94 \\ \hline 3008 \end{array}$ ㉟ $\begin{array}{r} 93 \\ \times 73 \\ \hline 6789 \end{array}$ ㊱ $\begin{array}{r} 15 \\ \times 18 \\ \hline 270 \end{array}$ ㊲ $\begin{array}{r} 29 \\ \times 40 \\ \hline 1160 \end{array}$ ㊳ $\begin{array}{r} 84 \\ \times 52 \\ \hline 4368 \end{array}$ ㊴ $\begin{array}{r} 59 \\ \times 12 \\ \hline 708 \end{array}$ ㊵ $\begin{array}{r} 88 \\ \times 50 \\ \hline 4400 \end{array}$

㊶ $\begin{array}{r} 60 \\ \times 24 \\ \hline 1440 \end{array}$ ㊷ $\begin{array}{r} 94 \\ \times 90 \\ \hline 8460 \end{array}$ ㊸ $\begin{array}{r} 44 \\ \times 50 \\ \hline 2200 \end{array}$ ㊹ $\begin{array}{r} 22 \\ \times 70 \\ \hline 1540 \end{array}$ ㊺ $\begin{array}{r} 41 \\ \times 71 \\ \hline 2911 \end{array}$ ㊻ $\begin{array}{r} 98 \\ \times 40 \\ \hline 3920 \end{array}$ ㊼ $\begin{array}{r} 31 \\ \times 69 \\ \hline 2139 \end{array}$ ㊽ $\begin{array}{r} 50 \\ \times 62 \\ \hline 3100 \end{array}$ ㊾ $\begin{array}{r} 38 \\ \times 26 \\ \hline 988 \end{array}$ ㊿ $\begin{array}{r} 52 \\ \times 50 \\ \hline 2600 \end{array}$

① $\begin{array}{r} 34 \\ \times 52 \\ \hline 1768 \end{array}$ ② $\begin{array}{r} 40 \\ \times 85 \\ \hline 3400 \end{array}$ ③ $\begin{array}{r} 85 \\ \times 71 \\ \hline 6035 \end{array}$ ④ $\begin{array}{r} 98 \\ \times 80 \\ \hline 7840 \end{array}$ ⑤ $\begin{array}{r} 83 \\ \times 91 \\ \hline 7553 \end{array}$ ⑥ $\begin{array}{r} 23 \\ \times 90 \\ \hline 2070 \end{array}$ ⑦ $\begin{array}{r} 71 \\ \times 61 \\ \hline 4331 \end{array}$ ⑧ $\begin{array}{r} 76 \\ \times 70 \\ \hline 5320 \end{array}$ ⑨ $\begin{array}{r} 39 \\ \times 51 \\ \hline 1989 \end{array}$ ⑩ $\begin{array}{r} 91 \\ \times 57 \\ \hline 5187 \end{array}$

⑪ $\begin{array}{r} 51 \\ \times 26 \\ \hline 1326 \end{array}$ ⑫ $\begin{array}{r} 14 \\ \times 59 \\ \hline 826 \end{array}$ ⑬ $\begin{array}{r} 50 \\ \times 56 \\ \hline 2800 \end{array}$ ⑭ $\begin{array}{r} 84 \\ \times 40 \\ \hline 3360 \end{array}$ ⑮ $\begin{array}{r} 82 \\ \times 42 \\ \hline 3444 \end{array}$ ⑯ $\begin{array}{r} 62 \\ \times 32 \\ \hline 1984 \end{array}$ ⑰ $\begin{array}{r} 45 \\ \times 90 \\ \hline 4050 \end{array}$ ⑱ $\begin{array}{r} 39 \\ \times 30 \\ \hline 1170 \end{array}$ ⑲ $\begin{array}{r} 17 \\ \times 37 \\ \hline 629 \end{array}$ ⑳ $\begin{array}{r} 23 \\ \times 24 \\ \hline 552 \end{array}$

㉑ $\begin{array}{r} 12 \\ \times 25 \\ \hline 300 \end{array}$ ㉒ $\begin{array}{r} 51 \\ \times 39 \\ \hline 1989 \end{array}$ ㉓ $\begin{array}{r} 80 \\ \times 26 \\ \hline 2080 \end{array}$ ㉔ $\begin{array}{r} 30 \\ \times 84 \\ \hline 2520 \end{array}$ ㉕ $\begin{array}{r} 52 \\ \times 19 \\ \hline 988 \end{array}$ ㉖ $\begin{array}{r} 41 \\ \times 25 \\ \hline 1025 \end{array}$ ㉗ $\begin{array}{r} 90 \\ \times 83 \\ \hline 7470 \end{array}$ ㉘ $\begin{array}{r} 84 \\ \times 22 \\ \hline 1848 \end{array}$ ㉙ $\begin{array}{r} 17 \\ \times 17 \\ \hline 289 \end{array}$ ㉚ $\begin{array}{r} 92 \\ \times 53 \\ \hline 4876 \end{array}$

㉛ $\begin{array}{r} 31 \\ \times 99 \\ \hline 3069 \end{array}$ ㉜ $\begin{array}{r} 39 \\ \times 50 \\ \hline 1950 \end{array}$ ㉝ $\begin{array}{r} 79 \\ \times 21 \\ \hline 1659 \end{array}$ ㉞ $\begin{array}{r} 31 \\ \times 82 \\ \hline 2542 \end{array}$ ㉟ $\begin{array}{r} 63 \\ \times 90 \\ \hline 5670 \end{array}$ ㊱ $\begin{array}{r} 81 \\ \times 66 \\ \hline 5346 \end{array}$ ㊲ $\begin{array}{r} 55 \\ \times 17 \\ \hline 935 \end{array}$ ㊳ $\begin{array}{r} 35 \\ \times 40 \\ \hline 1400 \end{array}$ ㊴ $\begin{array}{r} 29 \\ \times 17 \\ \hline 493 \end{array}$ ㊵ $\begin{array}{r} 52 \\ \times 34 \\ \hline 1768 \end{array}$

㊶ $\begin{array}{r} 31 \\ \times 75 \\ \hline 2325 \end{array}$ ㊷ $\begin{array}{r} 73 \\ \times 23 \\ \hline 1679 \end{array}$ ㊸ $\begin{array}{r} 71 \\ \times 68 \\ \hline 4828 \end{array}$ ㊹ $\begin{array}{r} 41 \\ \times 87 \\ \hline 3567 \end{array}$ ㊺ $\begin{array}{r} 30 \\ \times 79 \\ \hline 2370 \end{array}$ ㊻ $\begin{array}{r} 15 \\ \times 44 \\ \hline 660 \end{array}$ ㊼ $\begin{array}{r} 50 \\ \times 46 \\ \hline 2300 \end{array}$ ㊽ $\begin{array}{r} 81 \\ \times 79 \\ \hline 6399 \end{array}$ ㊾ $\begin{array}{r} 61 \\ \times 43 \\ \hline 2623 \end{array}$ ㊿ $\begin{array}{r} 18 \\ \times 60 \\ \hline 1080 \end{array}$

① $\begin{array}{r} 15 \\ \times 38 \\ \hline 570 \end{array}$ ② $\begin{array}{r} 70 \\ \times 75 \\ \hline 5250 \end{array}$ ③ $\begin{array}{r} 15 \\ \times 70 \\ \hline 1050 \end{array}$ ④ $\begin{array}{r} 91 \\ \times 97 \\ \hline 8827 \end{array}$ ⑤ $\begin{array}{r} 78 \\ \times 31 \\ \hline 2418 \end{array}$ ⑥ $\begin{array}{r} 40 \\ \times 36 \\ \hline 1440 \end{array}$ ⑦ $\begin{array}{r} 42 \\ \times 18 \\ \hline 756 \end{array}$ ⑧ $\begin{array}{r} 80 \\ \times 49 \\ \hline 3920 \end{array}$ ⑨ $\begin{array}{r} 17 \\ \times 48 \\ \hline 816 \end{array}$ ⑩ $\begin{array}{r} 85 \\ \times 61 \\ \hline 5185 \end{array}$

⑪ $\begin{array}{r} 60 \\ \times 49 \\ \hline 2940 \end{array}$ ⑫ $\begin{array}{r} 30 \\ \times 86 \\ \hline 2580 \end{array}$ ⑬ $\begin{array}{r} 83 \\ \times 51 \\ \hline 4233 \end{array}$ ⑭ $\begin{array}{r} 80 \\ \times 52 \\ \hline 4160 \end{array}$ ⑮ $\begin{array}{r} 72 \\ \times 71 \\ \hline 5112 \end{array}$ ⑯ $\begin{array}{r} 31 \\ \times 52 \\ \hline 1612 \end{array}$ ⑰ $\begin{array}{r} 38 \\ \times 25 \\ \hline 950 \end{array}$ ⑱ $\begin{array}{r} 71 \\ \times 95 \\ \hline 6745 \end{array}$ ⑲ $\begin{array}{r} 26 \\ \times 34 \\ \hline 884 \end{array}$ ⑳ $\begin{array}{r} 12 \\ \times 18 \\ \hline 216 \end{array}$

㉑ $\begin{array}{r} 77 \\ \times 71 \\ \hline 5467 \end{array}$ ㉒ $\begin{array}{r} 91 \\ \times 21 \\ \hline 1911 \end{array}$ ㉓ $\begin{array}{r} 92 \\ \times 70 \\ \hline 6440 \end{array}$ ㉔ $\begin{array}{r} 80 \\ \times 32 \\ \hline 2560 \end{array}$ ㉕ $\begin{array}{r} 15 \\ \times 54 \\ \hline 810 \end{array}$ ㉖ $\begin{array}{r} 81 \\ \times 62 \\ \hline 5022 \end{array}$ ㉗ $\begin{array}{r} 90 \\ \times 83 \\ \hline 7470 \end{array}$ ㉘ $\begin{array}{r} 72 \\ \times 62 \\ \hline 4464 \end{array}$ ㉙ $\begin{array}{r} 30 \\ \times 76 \\ \hline 2280 \end{array}$ ㉚ $\begin{array}{r} 34 \\ \times 18 \\ \hline 612 \end{array}$

㉛ $\begin{array}{r} 70 \\ \times 82 \\ \hline 5740 \end{array}$ ㉜ $\begin{array}{r} 95 \\ \times 51 \\ \hline 4845 \end{array}$ ㉝ $\begin{array}{r} 81 \\ \times 69 \\ \hline 5589 \end{array}$ ㉞ $\begin{array}{r} 26 \\ \times 23 \\ \hline 598 \end{array}$ ㉟ $\begin{array}{r} 52 \\ \times 42 \\ \hline 2184 \end{array}$ ㊱ $\begin{array}{r} 41 \\ \times 39 \\ \hline 1599 \end{array}$ ㊲ $\begin{array}{r} 18 \\ \times 42 \\ \hline 756 \end{array}$ ㊳ $\begin{array}{r} 28 \\ \times 71 \\ \hline 1988 \end{array}$ ㊴ $\begin{array}{r} 96 \\ \times 21 \\ \hline 2016 \end{array}$ ㊵ $\begin{array}{r} 54 \\ \times 31 \\ \hline 1674 \end{array}$

㊶ $\begin{array}{r} 90 \\ \times 66 \\ \hline 5940 \end{array}$ ㊷ $\begin{array}{r} 77 \\ \times 91 \\ \hline 7007 \end{array}$ ㊸ $\begin{array}{r} 83 \\ \times 21 \\ \hline 1743 \end{array}$ ㊹ $\begin{array}{r} 35 \\ \times 14 \\ \hline 490 \end{array}$ ㊺ $\begin{array}{r} 70 \\ \times 94 \\ \hline 6580 \end{array}$ ㊻ $\begin{array}{r} 99 \\ \times 71 \\ \hline 7029 \end{array}$ ㊼ $\begin{array}{r} 71 \\ \times 45 \\ \hline 3195 \end{array}$ ㊽ $\begin{array}{r} 80 \\ \times 93 \\ \hline 7440 \end{array}$ ㊾ $\begin{array}{r} 17 \\ \times 53 \\ \hline 901 \end{array}$ ㊿ $\begin{array}{r} 54 \\ \times 92 \\ \hline 4968 \end{array}$

$$\begin{array}{r} \textcircled{1} \quad 69 \\ \times 30 \\ \hline 2070 \end{array} \quad \begin{array}{r} \textcircled{2} \quad 96 \\ \times 40 \\ \hline 3840 \end{array} \quad \begin{array}{r} \textcircled{3} \quad 67 \\ \times 31 \\ \hline 2077 \end{array} \quad \begin{array}{r} \textcircled{4} \quad 96 \\ \times 51 \\ \hline 4896 \end{array} \quad \begin{array}{r} \textcircled{5} \quad 52 \\ \times 23 \\ \hline 1196 \end{array} \quad \begin{array}{r} \textcircled{6} \quad 41 \\ \times 97 \\ \hline 3977 \end{array} \quad \begin{array}{r} \textcircled{7} \quad 14 \\ \times 45 \\ \hline 630 \end{array} \quad \begin{array}{r} \textcircled{8} \quad 15 \\ \times 17 \\ \hline 255 \end{array} \quad \begin{array}{r} \textcircled{9} \quad 46 \\ \times 70 \\ \hline 3220 \end{array} \quad \begin{array}{r} \textcircled{10} \quad 34 \\ \times 15 \\ \hline 510 \end{array}$$

$$\begin{array}{r} \textcircled{11} \quad 47 \\ \times 17 \\ \hline 799 \end{array} \quad \begin{array}{r} \textcircled{12} \quad 17 \\ \times 47 \\ \hline 799 \end{array} \quad \begin{array}{r} \textcircled{13} \quad 60 \\ \times 64 \\ \hline 3840 \end{array} \quad \begin{array}{r} \textcircled{14} \quad 25 \\ \times 81 \\ \hline 2025 \end{array} \quad \begin{array}{r} \textcircled{15} \quad 91 \\ \times 81 \\ \hline 7371 \end{array} \quad \begin{array}{r} \textcircled{16} \quad 52 \\ \times 83 \\ \hline 4316 \end{array} \quad \begin{array}{r} \textcircled{17} \quad 42 \\ \times 90 \\ \hline 3780 \end{array} \quad \begin{array}{r} \textcircled{18} \quad 96 \\ \times 31 \\ \hline 2976 \end{array} \quad \begin{array}{r} \textcircled{19} \quad 13 \\ \times 26 \\ \hline 338 \end{array} \quad \begin{array}{r} \textcircled{20} \quad 73 \\ \times 72 \\ \hline 5256 \end{array}$$

$$\begin{array}{r} \textcircled{21} \quad 19 \\ \times 48 \\ \hline 912 \end{array} \quad \begin{array}{r} \textcircled{22} \quad 42 \\ \times 32 \\ \hline 1344 \end{array} \quad \begin{array}{r} \textcircled{23} \quad 14 \\ \times 54 \\ \hline 756 \end{array} \quad \begin{array}{r} \textcircled{24} \quad 51 \\ \times 54 \\ \hline 2754 \end{array} \quad \begin{array}{r} \textcircled{25} \quad 39 \\ \times 50 \\ \hline 1950 \end{array} \quad \begin{array}{r} \textcircled{26} \quad 27 \\ \times 16 \\ \hline 432 \end{array} \quad \begin{array}{r} \textcircled{27} \quad 70 \\ \times 87 \\ \hline 6090 \end{array} \quad \begin{array}{r} \textcircled{28} \quad 33 \\ \times 53 \\ \hline 1749 \end{array} \quad \begin{array}{r} \textcircled{29} \quad 21 \\ \times 87 \\ \hline 1827 \end{array} \quad \begin{array}{r} \textcircled{30} \quad 13 \\ \times 81 \\ \hline 1053 \end{array}$$

$$\begin{array}{r} \textcircled{31} \quad 60 \\ \times 49 \\ \hline 2940 \end{array} \quad \begin{array}{r} \textcircled{32} \quad 14 \\ \times 65 \\ \hline 910 \end{array} \quad \begin{array}{r} \textcircled{33} \quad 78 \\ \times 51 \\ \hline 3978 \end{array} \quad \begin{array}{r} \textcircled{34} \quad 15 \\ \times 16 \\ \hline 240 \end{array} \quad \begin{array}{r} \textcircled{35} \quad 91 \\ \times 46 \\ \hline 4186 \end{array} \quad \begin{array}{r} \textcircled{36} \quad 24 \\ \times 17 \\ \hline 408 \end{array} \quad \begin{array}{r} \textcircled{37} \quad 24 \\ \times 81 \\ \hline 1944 \end{array} \quad \begin{array}{r} \textcircled{38} \quad 79 \\ \times 40 \\ \hline 3160 \end{array} \quad \begin{array}{r} \textcircled{39} \quad 17 \\ \times 91 \\ \hline 1547 \end{array} \quad \begin{array}{r} \textcircled{40} \quad 70 \\ \times 65 \\ \hline 4550 \end{array}$$

$$\begin{array}{r} \textcircled{41} \quad 11 \\ \times 96 \\ \hline 1056 \end{array} \quad \begin{array}{r} \textcircled{42} \quad 91 \\ \times 31 \\ \hline 2821 \end{array} \quad \begin{array}{r} \textcircled{43} \quad 50 \\ \times 99 \\ \hline 4950 \end{array} \quad \begin{array}{r} \textcircled{44} \quad 30 \\ \times 88 \\ \hline 2640 \end{array} \quad \begin{array}{r} \textcircled{45} \quad 94 \\ \times 91 \\ \hline 8554 \end{array} \quad \begin{array}{r} \textcircled{46} \quad 90 \\ \times 24 \\ \hline 2160 \end{array} \quad \begin{array}{r} \textcircled{47} \quad 88 \\ \times 71 \\ \hline 6248 \end{array} \quad \begin{array}{r} \textcircled{48} \quad 17 \\ \times 37 \\ \hline 629 \end{array} \quad \begin{array}{r} \textcircled{49} \quad 41 \\ \times 67 \\ \hline 2747 \end{array} \quad \begin{array}{r} \textcircled{50} \quad 68 \\ \times 41 \\ \hline 2788 \end{array}$$

$$\begin{array}{r} \textcircled{51} \quad 44 \\ \times 40 \\ \hline 1760 \end{array} \quad \begin{array}{r} \textcircled{52} \quad 62 \\ \times 94 \\ \hline 5828 \end{array} \quad \begin{array}{r} \textcircled{53} \quad 24 \\ \times 16 \\ \hline 384 \end{array} \quad \begin{array}{r} \textcircled{54} \quad 31 \\ \times 53 \\ \hline 1643 \end{array} \quad \begin{array}{r} \textcircled{55} \quad 74 \\ \times 22 \\ \hline 1628 \end{array} \quad \begin{array}{r} \textcircled{56} \quad 47 \\ \times 18 \\ \hline 846 \end{array} \quad \begin{array}{r} \textcircled{57} \quad 98 \\ \times 51 \\ \hline 4998 \end{array} \quad \begin{array}{r} \textcircled{58} \quad 71 \\ \times 53 \\ \hline 3763 \end{array} \quad \begin{array}{r} \textcircled{59} \quad 21 \\ \times 95 \\ \hline 1995 \end{array} \quad \begin{array}{r} \textcircled{60} \quad 42 \\ \times 50 \\ \hline 2100 \end{array}$$

$$\begin{array}{r} \textcircled{61} \quad 17 \\ \times 44 \\ \hline 748 \end{array} \quad \begin{array}{r} \textcircled{62} \quad 79 \\ \times 40 \\ \hline 3160 \end{array} \quad \begin{array}{r} \textcircled{63} \quad 55 \\ \times 40 \\ \hline 2200 \end{array} \quad \begin{array}{r} \textcircled{64} \quad 80 \\ \times 53 \\ \hline 4240 \end{array} \quad \begin{array}{r} \textcircled{65} \quad 21 \\ \times 86 \\ \hline 1806 \end{array} \quad \begin{array}{r} \textcircled{66} \quad 84 \\ \times 90 \\ \hline 7560 \end{array} \quad \begin{array}{r} \textcircled{67} \quad 31 \\ \times 67 \\ \hline 2077 \end{array} \quad \begin{array}{r} \textcircled{68} \quad 36 \\ \times 60 \\ \hline 2160 \end{array} \quad \begin{array}{r} \textcircled{69} \quad 83 \\ \times 42 \\ \hline 3486 \end{array} \quad \begin{array}{r} \textcircled{70} \quad 95 \\ \times 70 \\ \hline 6650 \end{array}$$

$$\begin{array}{r} \textcircled{71} \quad 41 \\ \times 93 \\ \hline 3813 \end{array} \quad \begin{array}{r} \textcircled{72} \quad 18 \\ \times 70 \\ \hline 1260 \end{array} \quad \begin{array}{r} \textcircled{73} \quad 17 \\ \times 33 \\ \hline 561 \end{array} \quad \begin{array}{r} \textcircled{74} \quad 40 \\ \times 49 \\ \hline 1960 \end{array} \quad \begin{array}{r} \textcircled{75} \quad 31 \\ \times 43 \\ \hline 1333 \end{array} \quad \begin{array}{r} \textcircled{76} \quad 23 \\ \times 53 \\ \hline 1219 \end{array} \quad \begin{array}{r} \textcircled{77} \quad 16 \\ \times 91 \\ \hline 1456 \end{array} \quad \begin{array}{r} \textcircled{78} \quad 51 \\ \times 28 \\ \hline 1428 \end{array} \quad \begin{array}{r} \textcircled{79} \quad 30 \\ \times 89 \\ \hline 2670 \end{array} \quad \begin{array}{r} \textcircled{80} \quad 31 \\ \times 91 \\ \hline 2821 \end{array}$$

$$\begin{array}{r} \textcircled{81} \quad 62 \\ \times 91 \\ \hline 5642 \end{array} \quad \begin{array}{r} \textcircled{82} \quad 41 \\ \times 39 \\ \hline 1599 \end{array} \quad \begin{array}{r} \textcircled{83} \quad 91 \\ \times 78 \\ \hline 7098 \end{array} \quad \begin{array}{r} \textcircled{84} \quad 69 \\ \times 13 \\ \hline 897 \end{array} \quad \begin{array}{r} \textcircled{85} \quad 41 \\ \times 96 \\ \hline 3936 \end{array} \quad \begin{array}{r} \textcircled{86} \quad 84 \\ \times 92 \\ \hline 7728 \end{array} \quad \begin{array}{r} \textcircled{87} \quad 32 \\ \times 42 \\ \hline 1344 \end{array} \quad \begin{array}{r} \textcircled{88} \quad 14 \\ \times 44 \\ \hline 616 \end{array} \quad \begin{array}{r} \textcircled{89} \quad 28 \\ \times 41 \\ \hline 1148 \end{array} \quad \begin{array}{r} \textcircled{90} \quad 57 \\ \times 17 \\ \hline 969 \end{array}$$

$$\begin{array}{r} \textcircled{91} \quad 39 \\ \times 41 \\ \hline 1599 \end{array} \quad \begin{array}{r} \textcircled{92} \quad 40 \\ \times 93 \\ \hline 3720 \end{array} \quad \begin{array}{r} \textcircled{93} \quad 44 \\ \times 30 \\ \hline 1320 \end{array} \quad \begin{array}{r} \textcircled{94} \quad 84 \\ \times 92 \\ \hline 7728 \end{array} \quad \begin{array}{r} \textcircled{95} \quad 46 \\ \times 16 \\ \hline 736 \end{array} \quad \begin{array}{r} \textcircled{96} \quad 28 \\ \times 29 \\ \hline 812 \end{array} \quad \begin{array}{r} \textcircled{97} \quad 16 \\ \times 36 \\ \hline 576 \end{array} \quad \begin{array}{r} \textcircled{98} \quad 14 \\ \times 55 \\ \hline 770 \end{array} \quad \begin{array}{r} \textcircled{99} \quad 49 \\ \times 40 \\ \hline 1960 \end{array} \quad \begin{array}{r} \textcircled{100} \quad 77 \\ \times 71 \\ \hline 5467 \end{array}$$

① $\begin{array}{r} 27 \\ \times 14 \\ \hline 378 \end{array}$ ② $\begin{array}{r} 63 \\ \times 33 \\ \hline 2079 \end{array}$ ③ $\begin{array}{r} 82 \\ \times 54 \\ \hline 4428 \end{array}$ ④ $\begin{array}{r} 75 \\ \times 61 \\ \hline 4575 \end{array}$ ⑤ $\begin{array}{r} 16 \\ \times 42 \\ \hline 672 \end{array}$ ⑥ $\begin{array}{r} 40 \\ \times 28 \\ \hline 1120 \end{array}$ ⑦ $\begin{array}{r} 75 \\ \times 13 \\ \hline 975 \end{array}$ ⑧ $\begin{array}{r} 62 \\ \times 24 \\ \hline 1488 \end{array}$ ⑨ $\begin{array}{r} 16 \\ \times 36 \\ \hline 576 \end{array}$ ⑩ $\begin{array}{r} 90 \\ \times 55 \\ \hline 4950 \end{array}$

⑪ $\begin{array}{r} 60 \\ \times 18 \\ \hline 1080 \end{array}$ ⑫ $\begin{array}{r} 16 \\ \times 45 \\ \hline 720 \end{array}$ ⑬ $\begin{array}{r} 92 \\ \times 32 \\ \hline 2944 \end{array}$ ⑭ $\begin{array}{r} 28 \\ \times 51 \\ \hline 1428 \end{array}$ ⑮ $\begin{array}{r} 91 \\ \times 29 \\ \hline 2639 \end{array}$ ⑯ $\begin{array}{r} 22 \\ \times 18 \\ \hline 396 \end{array}$ ⑰ $\begin{array}{r} 20 \\ \times 67 \\ \hline 1340 \end{array}$ ⑱ $\begin{array}{r} 24 \\ \times 92 \\ \hline 2208 \end{array}$ ⑲ $\begin{array}{r} 47 \\ \times 16 \\ \hline 752 \end{array}$ ⑳ $\begin{array}{r} 36 \\ \times 90 \\ \hline 3240 \end{array}$

㉑ $\begin{array}{r} 84 \\ \times 92 \\ \hline 7728 \end{array}$ ㉒ $\begin{array}{r} 90 \\ \times 64 \\ \hline 5760 \end{array}$ ㉓ $\begin{array}{r} 19 \\ \times 71 \\ \hline 1349 \end{array}$ ㉔ $\begin{array}{r} 13 \\ \times 66 \\ \hline 858 \end{array}$ ㉕ $\begin{array}{r} 13 \\ \times 68 \\ \hline 884 \end{array}$ ㉖ $\begin{array}{r} 85 \\ \times 70 \\ \hline 5950 \end{array}$ ㉗ $\begin{array}{r} 22 \\ \times 16 \\ \hline 352 \end{array}$ ㉘ $\begin{array}{r} 20 \\ \times 69 \\ \hline 1380 \end{array}$ ㉙ $\begin{array}{r} 64 \\ \times 21 \\ \hline 1344 \end{array}$ ㉚ $\begin{array}{r} 12 \\ \times 84 \\ \hline 1008 \end{array}$

㉛ $\begin{array}{r} 20 \\ \times 69 \\ \hline 1380 \end{array}$ ㉜ $\begin{array}{r} 71 \\ \times 52 \\ \hline 3692 \end{array}$ ㉝ $\begin{array}{r} 61 \\ \times 36 \\ \hline 2196 \end{array}$ ㉞ $\begin{array}{r} 89 \\ \times 60 \\ \hline 5340 \end{array}$ ㉟ $\begin{array}{r} 81 \\ \times 77 \\ \hline 6237 \end{array}$ ㊱ $\begin{array}{r} 66 \\ \times 71 \\ \hline 4686 \end{array}$ ㊲ $\begin{array}{r} 20 \\ \times 98 \\ \hline 1960 \end{array}$ ㊳ $\begin{array}{r} 14 \\ \times 53 \\ \hline 742 \end{array}$ ㊴ $\begin{array}{r} 74 \\ \times 41 \\ \hline 3034 \end{array}$ ㊵ $\begin{array}{r} 39 \\ \times 61 \\ \hline 2379 \end{array}$

㊶ $\begin{array}{r} 58 \\ \times 16 \\ \hline 928 \end{array}$ ㊷ $\begin{array}{r} 34 \\ \times 28 \\ \hline 952 \end{array}$ ㊸ $\begin{array}{r} 22 \\ \times 45 \\ \hline 990 \end{array}$ ㊹ $\begin{array}{r} 27 \\ \times 61 \\ \hline 1647 \end{array}$ ㊺ $\begin{array}{r} 43 \\ \times 90 \\ \hline 3870 \end{array}$ ㊻ $\begin{array}{r} 54 \\ \times 21 \\ \hline 1134 \end{array}$ ㊼ $\begin{array}{r} 60 \\ \times 29 \\ \hline 1740 \end{array}$ ㊽ $\begin{array}{r} 91 \\ \times 24 \\ \hline 2184 \end{array}$ ㊾ $\begin{array}{r} 43 \\ \times 83 \\ \hline 3569 \end{array}$ ㊿ $\begin{array}{r} 32 \\ \times 34 \\ \hline 1088 \end{array}$

① $\begin{array}{r} 51 \\ \times 82 \\ \hline 4182 \end{array}$ ② $\begin{array}{r} 21 \\ \times 57 \\ \hline 1197 \end{array}$ ③ $\begin{array}{r} 91 \\ \times 13 \\ \hline 1183 \end{array}$ ④ $\begin{array}{r} 14 \\ \times 26 \\ \hline 364 \end{array}$ ⑤ $\begin{array}{r} 40 \\ \times 28 \\ \hline 1120 \end{array}$ ⑥ $\begin{array}{r} 56 \\ \times 31 \\ \hline 1736 \end{array}$ ⑦ $\begin{array}{r} 32 \\ \times 44 \\ \hline 1408 \end{array}$ ⑧ $\begin{array}{r} 13 \\ \times 44 \\ \hline 572 \end{array}$ ⑨ $\begin{array}{r} 95 \\ \times 90 \\ \hline 8550 \end{array}$ ⑩ $\begin{array}{r} 29 \\ \times 23 \\ \hline 667 \end{array}$

⑪ $\begin{array}{r} 61 \\ \times 54 \\ \hline 3294 \end{array}$ ⑫ $\begin{array}{r} 60 \\ \times 39 \\ \hline 2340 \end{array}$ ⑬ $\begin{array}{r} 48 \\ \times 90 \\ \hline 4320 \end{array}$ ⑭ $\begin{array}{r} 18 \\ \times 61 \\ \hline 1098 \end{array}$ ⑮ $\begin{array}{r} 80 \\ \times 54 \\ \hline 4320 \end{array}$ ⑯ $\begin{array}{r} 30 \\ \times 79 \\ \hline 2370 \end{array}$ ⑰ $\begin{array}{r} 53 \\ \times 81 \\ \hline 4293 \end{array}$ ⑱ $\begin{array}{r} 60 \\ \times 37 \\ \hline 2220 \end{array}$ ⑲ $\begin{array}{r} 89 \\ \times 70 \\ \hline 6230 \end{array}$ ⑳ $\begin{array}{r} 99 \\ \times 70 \\ \hline 6930 \end{array}$

㉑ $\begin{array}{r} 71 \\ \times 91 \\ \hline 6461 \end{array}$ ㉒ $\begin{array}{r} 42 \\ \times 70 \\ \hline 2940 \end{array}$ ㉓ $\begin{array}{r} 68 \\ \times 50 \\ \hline 3400 \end{array}$ ㉔ $\begin{array}{r} 73 \\ \times 91 \\ \hline 6643 \end{array}$ ㉕ $\begin{array}{r} 70 \\ \times 72 \\ \hline 5040 \end{array}$ ㉖ $\begin{array}{r} 12 \\ \times 45 \\ \hline 540 \end{array}$ ㉗ $\begin{array}{r} 42 \\ \times 50 \\ \hline 2100 \end{array}$ ㉘ $\begin{array}{r} 28 \\ \times 19 \\ \hline 532 \end{array}$ ㉙ $\begin{array}{r} 83 \\ \times 40 \\ \hline 3320 \end{array}$ ㉚ $\begin{array}{r} 50 \\ \times 58 \\ \hline 2900 \end{array}$

㉛ $\begin{array}{r} 71 \\ \times 99 \\ \hline 7029 \end{array}$ ㉜ $\begin{array}{r} 52 \\ \times 81 \\ \hline 4212 \end{array}$ ㉝ $\begin{array}{r} 72 \\ \times 42 \\ \hline 3024 \end{array}$ ㉞ $\begin{array}{r} 71 \\ \times 33 \\ \hline 2343 \end{array}$ ㉟ $\begin{array}{r} 32 \\ \times 73 \\ \hline 2336 \end{array}$ ㊱ $\begin{array}{r} 30 \\ \times 67 \\ \hline 2010 \end{array}$ ㊲ $\begin{array}{r} 27 \\ \times 16 \\ \hline 432 \end{array}$ ㊳ $\begin{array}{r} 60 \\ \times 56 \\ \hline 3360 \end{array}$ ㊴ $\begin{array}{r} 27 \\ \times 80 \\ \hline 2160 \end{array}$ ㊵ $\begin{array}{r} 69 \\ \times 61 \\ \hline 4209 \end{array}$

㊶ $\begin{array}{r} 97 \\ \times 80 \\ \hline 7760 \end{array}$ ㊷ $\begin{array}{r} 70 \\ \times 53 \\ \hline 3710 \end{array}$ ㊸ $\begin{array}{r} 80 \\ \times 38 \\ \hline 3040 \end{array}$ ㊹ $\begin{array}{r} 51 \\ \times 29 \\ \hline 1479 \end{array}$ ㊺ $\begin{array}{r} 56 \\ \times 15 \\ \hline 840 \end{array}$ ㊻ $\begin{array}{r} 89 \\ \times 51 \\ \hline 4539 \end{array}$ ㊼ $\begin{array}{r} 32 \\ \times 34 \\ \hline 1088 \end{array}$ ㊽ $\begin{array}{r} 87 \\ \times 51 \\ \hline 4437 \end{array}$ ㊾ $\begin{array}{r} 98 \\ \times 41 \\ \hline 4018 \end{array}$ ㊿ $\begin{array}{r} 38 \\ \times 70 \\ \hline 2660 \end{array}$

$$\begin{array}{r} ① \quad 41 \\ \times 98 \\ \hline 4018 \end{array}$$

$$\begin{array}{r} ② \quad 38 \\ \times 19 \\ \hline 722 \end{array}$$

$$\begin{array}{r} ③ \quad 35 \\ \times 19 \\ \hline 665 \end{array}$$

$$\begin{array}{r} ④ \quad 60 \\ \times 42 \\ \hline 2520 \end{array}$$

$$\begin{array}{r} ⑤ \quad 30 \\ \times 96 \\ \hline 2880 \end{array}$$

$$\begin{array}{r} ⑥ \quad 75 \\ \times 41 \\ \hline 3075 \end{array}$$

$$\begin{array}{r} ⑦ \quad 14 \\ \times 29 \\ \hline 406 \end{array}$$

$$\begin{array}{r} ⑧ \quad 21 \\ \times 64 \\ \hline 1344 \end{array}$$

$$\begin{array}{r} ⑨ \quad 59 \\ \times 13 \\ \hline 767 \end{array}$$

$$\begin{array}{r} ⑩ \quad 23 \\ \times 36 \\ \hline 828 \end{array}$$

$$\begin{array}{r} ⑪ \quad 15 \\ \times 59 \\ \hline 885 \end{array}$$

$$\begin{array}{r} ⑫ \quad 30 \\ \times 76 \\ \hline 2280 \end{array}$$

$$\begin{array}{r} ⑬ \quad 33 \\ \times 80 \\ \hline 2640 \end{array}$$

$$\begin{array}{r} ⑭ \quad 38 \\ \times 60 \\ \hline 2280 \end{array}$$

$$\begin{array}{r} ⑮ \quad 52 \\ \times 33 \\ \hline 1716 \end{array}$$

$$\begin{array}{r} ⑯ \quad 30 \\ \times 78 \\ \hline 2340 \end{array}$$

$$\begin{array}{r} ⑰ \quad 52 \\ \times 90 \\ \hline 4680 \end{array}$$

$$\begin{array}{r} ⑱ \quad 83 \\ \times 83 \\ \hline 6889 \end{array}$$

$$\begin{array}{r} ⑲ \quad 67 \\ \times 21 \\ \hline 1407 \end{array}$$

$$\begin{array}{r} ⑳ \quad 60 \\ \times 33 \\ \hline 1980 \end{array}$$

$$\begin{array}{r} ㉑ \quad 22 \\ \times 53 \\ \hline 1166 \end{array}$$

$$\begin{array}{r} ㉒ \quad 63 \\ \times 81 \\ \hline 5103 \end{array}$$

$$\begin{array}{r} ㉓ \quad 90 \\ \times 84 \\ \hline 7560 \end{array}$$

$$\begin{array}{r} ㉔ \quad 88 \\ \times 81 \\ \hline 7128 \end{array}$$

$$\begin{array}{r} ㉕ \quad 91 \\ \times 88 \\ \hline 8008 \end{array}$$

$$\begin{array}{r} ㉖ \quad 56 \\ \times 81 \\ \hline 4536 \end{array}$$

$$\begin{array}{r} ㉗ \quad 52 \\ \times 41 \\ \hline 2132 \end{array}$$

$$\begin{array}{r} ㉘ \quad 63 \\ \times 72 \\ \hline 4536 \end{array}$$

$$\begin{array}{r} ㉙ \quad 61 \\ \times 45 \\ \hline 2745 \end{array}$$

$$\begin{array}{r} ㉚ \quad 92 \\ \times 43 \\ \hline 3956 \end{array}$$

$$\begin{array}{r} ㉛ \quad 61 \\ \times 78 \\ \hline 4758 \end{array}$$

$$\begin{array}{r} ㉜ \quad 60 \\ \times 94 \\ \hline 5640 \end{array}$$

$$\begin{array}{r} ㉝ \quad 71 \\ \times 42 \\ \hline 2982 \end{array}$$

$$\begin{array}{r} ㉞ \quad 44 \\ \times 42 \\ \hline 1848 \end{array}$$

$$\begin{array}{r} ㉟ \quad 47 \\ \times 31 \\ \hline 1457 \end{array}$$

$$\begin{array}{r} ㊱ \quad 53 \\ \times 23 \\ \hline 1219 \end{array}$$

$$\begin{array}{r} ㊲ \quad 20 \\ \times 76 \\ \hline 1520 \end{array}$$

$$\begin{array}{r} ㊳ \quad 13 \\ \times 58 \\ \hline 754 \end{array}$$

$$\begin{array}{r} ㊴ \quad 12 \\ \times 19 \\ \hline 228 \end{array}$$

$$\begin{array}{r} ㊵ \quad 39 \\ \times 61 \\ \hline 2379 \end{array}$$

$$\begin{array}{r} ㊶ \quad 77 \\ \times 80 \\ \hline 6160 \end{array}$$

$$\begin{array}{r} ㊷ \quad 90 \\ \times 52 \\ \hline 4680 \end{array}$$

$$\begin{array}{r} ㊸ \quad 68 \\ \times 41 \\ \hline 2788 \end{array}$$

$$\begin{array}{r} ㊹ \quad 62 \\ \times 84 \\ \hline 5208 \end{array}$$

$$\begin{array}{r} ㊺ \quad 45 \\ \times 31 \\ \hline 1395 \end{array}$$

$$\begin{array}{r} ㊻ \quad 81 \\ \times 82 \\ \hline 6642 \end{array}$$

$$\begin{array}{r} ㊼ \quad 92 \\ \times 61 \\ \hline 5612 \end{array}$$

$$\begin{array}{r} ㊽ \quad 23 \\ \times 51 \\ \hline 1173 \end{array}$$

$$\begin{array}{r} ㊾ \quad 95 \\ \times 31 \\ \hline 2945 \end{array}$$

$$\begin{array}{r} ㊿ \quad 36 \\ \times 30 \\ \hline 1080 \end{array}$$

$$\begin{array}{r} ㊶ \quad 40 \\ \times 77 \\ \hline 3080 \end{array}$$

$$\begin{array}{r} ㊷ \quad 96 \\ \times 11 \\ \hline 1056 \end{array}$$

$$\begin{array}{r} ㊸ \quad 34 \\ \times 17 \\ \hline 578 \end{array}$$

$$\begin{array}{r} ㊹ \quad 21 \\ \times 95 \\ \hline 1995 \end{array}$$

$$\begin{array}{r} ㊺ \quad 86 \\ \times 70 \\ \hline 6020 \end{array}$$

$$\begin{array}{r} ㊻ \quad 83 \\ \times 82 \\ \hline 6806 \end{array}$$

$$\begin{array}{r} ㊼ \quad 14 \\ \times 63 \\ \hline 882 \end{array}$$

$$\begin{array}{r} ㊽ \quad 42 \\ \times 31 \\ \hline 1302 \end{array}$$

$$\begin{array}{r} ㊾ \quad 27 \\ \times 13 \\ \hline 351 \end{array}$$

$$\begin{array}{r} ㊿ \quad 84 \\ \times 70 \\ \hline 5880 \end{array}$$

$$\begin{array}{r} ㊶ \quad 64 \\ \times 60 \\ \hline 3840 \end{array}$$

$$\begin{array}{r} ㊷ \quad 96 \\ \times 90 \\ \hline 8640 \end{array}$$

$$\begin{array}{r} ㊸ \quad 90 \\ \times 94 \\ \hline 8460 \end{array}$$

$$\begin{array}{r} ㊹ \quad 43 \\ \times 33 \\ \hline 1419 \end{array}$$

$$\begin{array}{r} ㊺ \quad 24 \\ \times 28 \\ \hline 672 \end{array}$$

$$\begin{array}{r} ㊻ \quad 62 \\ \times 90 \\ \hline 5580 \end{array}$$

$$\begin{array}{r} ㊼ \quad 80 \\ \times 17 \\ \hline 1360 \end{array}$$

$$\begin{array}{r} ㊽ \quad 40 \\ \times 67 \\ \hline 2680 \end{array}$$

$$\begin{array}{r} ㊾ \quad 27 \\ \times 60 \\ \hline 1620 \end{array}$$

$$\begin{array}{r} ㊿ \quad 78 \\ \times 61 \\ \hline 4758 \end{array}$$

$$\begin{array}{r} ㊶ \quad 67 \\ \times 40 \\ \hline 2680 \end{array}$$

$$\begin{array}{r} ㊷ \quad 67 \\ \times 50 \\ \hline 3350 \end{array}$$

$$\begin{array}{r} ㊸ \quad 81 \\ \times 45 \\ \hline 3645 \end{array}$$

$$\begin{array}{r} ㊹ \quad 50 \\ \times 59 \\ \hline 2950 \end{array}$$

$$\begin{array}{r} ㊺ \quad 37 \\ \times 41 \\ \hline 1517 \end{array}$$

$$\begin{array}{r} ㊻ \quad 36 \\ \times 71 \\ \hline 2556 \end{array}$$

$$\begin{array}{r} ㊼ \quad 57 \\ \times 12 \\ \hline 684 \end{array}$$

$$\begin{array}{r} ㊽ \quad 91 \\ \times 62 \\ \hline 5642 \end{array}$$

$$\begin{array}{r} ㊾ \quad 32 \\ \times 25 \\ \hline 800 \end{array}$$

$$\begin{array}{r} ㊿ \quad 93 \\ \times 22 \\ \hline 2046 \end{array}$$

$$\begin{array}{r} ㊶ \quad 71 \\ \times 49 \\ \hline 3479 \end{array}$$

$$\begin{array}{r} ㊷ \quad 51 \\ \times 61 \\ \hline 3111 \end{array}$$

$$\begin{array}{r} ㊸ \quad 18 \\ \times 28 \\ \hline 504 \end{array}$$

$$\begin{array}{r} ㊹ \quad 89 \\ \times 70 \\ \hline 6230 \end{array}$$

$$\begin{array}{r} ㊺ \quad 16 \\ \times 52 \\ \hline 832 \end{array}$$

$$\begin{array}{r} ㊻ \quad 54 \\ \times 40 \\ \hline 2160 \end{array}$$

$$\begin{array}{r} ㊼ \quad 82 \\ \times 72 \\ \hline 5904 \end{array}$$

$$\begin{array}{r} ㊽ \quad 20 \\ \times 59 \\ \hline 1180 \end{array}$$

$$\begin{array}{r} ㊾ \quad 71 \\ \times 55 \\ \hline 3905 \end{array}$$

$$\begin{array}{r} ㊿ \quad 71 \\ \times 69 \\ \hline 4899 \end{array}$$

$$\begin{array}{r} ㊶ \quad 91 \\ \times 63 \\ \hline 5733 \end{array}$$

$$\begin{array}{r} ㊷ \quad 60 \\ \times 99 \\ \hline 5940 \end{array}$$

$$\begin{array}{r} ㊸ \quad 42 \\ \times 72 \\ \hline 3024 \end{array}$$

$$\begin{array}{r} ㊹ \quad 41 \\ \times 57 \\ \hline 2337 \end{array}$$

$$\begin{array}{r} ㊺ \quad 94 \\ \times 90 \\ \hline 8460 \end{array}$$

$$\begin{array}{r} ㊻ \quad 41 \\ \times 48 \\ \hline 1968 \end{array}$$

$$\begin{array}{r} ㊼ \quad 83 \\ \times 91 \\ \hline 7553 \end{array}$$

$$\begin{array}{r} ㊽ \quad 28 \\ \times 60 \\ \hline 1680 \end{array}$$

$$\begin{array}{r} ㊾ \quad 53 \\ \times 60 \\ \hline 3180 \end{array}$$

$$\begin{array}{r} ㊿ \quad 17 \\ \times 55 \\ \hline 935 \end{array}$$

$$\begin{array}{r} ① \quad 17 \\ \times 33 \\ \hline 561 \end{array}$$

$$\begin{array}{r} ② \quad 58 \\ \times 41 \\ \hline 2378 \end{array}$$

$$\begin{array}{r} ③ \quad 45 \\ \times 80 \\ \hline 3600 \end{array}$$

$$\begin{array}{r} ④ \quad 45 \\ \times 13 \\ \hline 585 \end{array}$$

$$\begin{array}{r} ⑤ \quad 71 \\ \times 47 \\ \hline 3337 \end{array}$$

$$\begin{array}{r} ⑥ \quad 50 \\ \times 33 \\ \hline 1650 \end{array}$$

$$\begin{array}{r} ⑦ \quad 91 \\ \times 21 \\ \hline 1911 \end{array}$$

$$\begin{array}{r} ⑧ \quad 25 \\ \times 22 \\ \hline 550 \end{array}$$

$$\begin{array}{r} ⑨ \quad 91 \\ \times 56 \\ \hline 5096 \end{array}$$

$$\begin{array}{r} ⑩ \quad 99 \\ \times 30 \\ \hline 2970 \end{array}$$

$$\begin{array}{r} ⑪ \quad 80 \\ \times 82 \\ \hline 6560 \end{array}$$

$$\begin{array}{r} ⑫ \quad 47 \\ \times 51 \\ \hline 2397 \end{array}$$

$$\begin{array}{r} ⑬ \quad 86 \\ \times 61 \\ \hline 5246 \end{array}$$

$$\begin{array}{r} ⑭ \quad 82 \\ \times 73 \\ \hline 5986 \end{array}$$

$$\begin{array}{r} ⑮ \quad 70 \\ \times 26 \\ \hline 1820 \end{array}$$

$$\begin{array}{r} ⑯ \quad 80 \\ \times 65 \\ \hline 5200 \end{array}$$

$$\begin{array}{r} ⑰ \quad 26 \\ \times 91 \\ \hline 2366 \end{array}$$

$$\begin{array}{r} ⑱ \quad 93 \\ \times 12 \\ \hline 1116 \end{array}$$

$$\begin{array}{r} ⑲ \quad 89 \\ \times 41 \\ \hline 3649 \end{array}$$

$$\begin{array}{r} ⑳ \quad 54 \\ \times 32 \\ \hline 1728 \end{array}$$

$$\begin{array}{r} ㉑ \quad 91 \\ \times 67 \\ \hline 6097 \end{array}$$

$$\begin{array}{r} ㉒ \quad 82 \\ \times 84 \\ \hline 6888 \end{array}$$

$$\begin{array}{r} ㉓ \quad 41 \\ \times 48 \\ \hline 1968 \end{array}$$

$$\begin{array}{r} ㉔ \quad 92 \\ \times 61 \\ \hline 5612 \end{array}$$

$$\begin{array}{r} ㉕ \quad 71 \\ \times 85 \\ \hline 6035 \end{array}$$

$$\begin{array}{r} ㉖ \quad 70 \\ \times 56 \\ \hline 3920 \end{array}$$

$$\begin{array}{r} ㉗ \quad 69 \\ \times 91 \\ \hline 6279 \end{array}$$

$$\begin{array}{r} ㉘ \quad 86 \\ \times 20 \\ \hline 1720 \end{array}$$

$$\begin{array}{r} ㉙ \quad 38 \\ \times 22 \\ \hline 836 \end{array}$$

$$\begin{array}{r} ㉚ \quad 27 \\ \times 29 \\ \hline 783 \end{array}$$

$$\begin{array}{r} ㉛ \quad 15 \\ \times 25 \\ \hline 375 \end{array}$$

$$\begin{array}{r} ㉜ \quad 27 \\ \times 22 \\ \hline 594 \end{array}$$

$$\begin{array}{r} ㉝ \quad 93 \\ \times 71 \\ \hline 6603 \end{array}$$

$$\begin{array}{r} ㉞ \quad 21 \\ \times 58 \\ \hline 1218 \end{array}$$

$$\begin{array}{r} ㉟ \quad 31 \\ \times 69 \\ \hline 2139 \end{array}$$

$$\begin{array}{r} ㊱ \quad 24 \\ \times 35 \\ \hline 840 \end{array}$$

$$\begin{array}{r} ㊲ \quad 89 \\ \times 71 \\ \hline 6319 \end{array}$$

$$\begin{array}{r} ㊳ \quad 64 \\ \times 32 \\ \hline 2048 \end{array}$$

$$\begin{array}{r} ㊴ \quad 53 \\ \times 16 \\ \hline 848 \end{array}$$

$$\begin{array}{r} ㊵ \quad 33 \\ \times 52 \\ \hline 1716 \end{array}$$

$$\begin{array}{r} ㊶ \quad 39 \\ \times 31 \\ \hline 1209 \end{array}$$

$$\begin{array}{r} ㊷ \quad 42 \\ \times 90 \\ \hline 3780 \end{array}$$

$$\begin{array}{r} ㊸ \quad 29 \\ \times 32 \\ \hline 928 \end{array}$$

$$\begin{array}{r} ㊹ \quad 95 \\ \times 51 \\ \hline 4845 \end{array}$$

$$\begin{array}{r} ㊺ \quad 50 \\ \times 72 \\ \hline 3600 \end{array}$$

$$\begin{array}{r} ㊻ \quad 21 \\ \times 79 \\ \hline 1659 \end{array}$$

$$\begin{array}{r} ㊼ \quad 60 \\ \times 18 \\ \hline 1080 \end{array}$$

$$\begin{array}{r} ㊽ \quad 19 \\ \times 28 \\ \hline 532 \end{array}$$

$$\begin{array}{r} ㊾ \quad 78 \\ \times 50 \\ \hline 3900 \end{array}$$

$$\begin{array}{r} ㊿ \quad 28 \\ \times 81 \\ \hline 2268 \end{array}$$

$$\begin{array}{r} ㊶ \quad 61 \\ \times 76 \\ \hline 4636 \end{array}$$

$$\begin{array}{r} ㊷ \quad 65 \\ \times 15 \\ \hline 975 \end{array}$$

$$\begin{array}{r} ㊸ \quad 50 \\ \times 57 \\ \hline 2850 \end{array}$$

$$\begin{array}{r} ㊹ \quad 97 \\ \times 60 \\ \hline 5820 \end{array}$$

$$\begin{array}{r} ㊺ \quad 77 \\ \times 80 \\ \hline 6160 \end{array}$$

$$\begin{array}{r} ㊻ \quad 59 \\ \times 60 \\ \hline 3540 \end{array}$$

$$\begin{array}{r} ㊼ \quad 82 \\ \times 70 \\ \hline 5740 \end{array}$$

$$\begin{array}{r} ㊽ \quad 81 \\ \times 76 \\ \hline 6156 \end{array}$$

$$\begin{array}{r} ㊾ \quad 12 \\ \times 26 \\ \hline 312 \end{array}$$

$$\begin{array}{r} ㊿ \quad 61 \\ \times 22 \\ \hline 1342 \end{array}$$

$$\begin{array}{r} ㊶ \quad 42 \\ \times 61 \\ \hline 2562 \end{array}$$

$$\begin{array}{r} ㊷ \quad 62 \\ \times 62 \\ \hline 3844 \end{array}$$

$$\begin{array}{r} ㊸ \quad 66 \\ \times 80 \\ \hline 5280 \end{array}$$

$$\begin{array}{r} ㊹ \quad 71 \\ \times 94 \\ \hline 6674 \end{array}$$

$$\begin{array}{r} ㊺ \quad 15 \\ \times 54 \\ \hline 810 \end{array}$$

$$\begin{array}{r} ㊻ \quad 91 \\ \times 18 \\ \hline 1638 \end{array}$$

$$\begin{array}{r} ㊼ \quad 52 \\ \times 54 \\ \hline 2808 \end{array}$$

$$\begin{array}{r} ㊽ \quad 41 \\ \times 58 \\ \hline 2378 \end{array}$$

$$\begin{array}{r} ㊾ \quad 73 \\ \times 50 \\ \hline 3650 \end{array}$$

$$\begin{array}{r} ㊿ \quad 96 \\ \times 21 \\ \hline 2016 \end{array}$$

$$\begin{array}{r} ㊶ \quad 75 \\ \times 12 \\ \hline 900 \end{array}$$

$$\begin{array}{r} ㊷ \quad 38 \\ \times 61 \\ \hline 2318 \end{array}$$

$$\begin{array}{r} ㊸ \quad 30 \\ \times 88 \\ \hline 2640 \end{array}$$

$$\begin{array}{r} ㊹ \quad 81 \\ \times 71 \\ \hline 5751 \end{array}$$

$$\begin{array}{r} ㊺ \quad 47 \\ \times 90 \\ \hline 4230 \end{array}$$

$$\begin{array}{r} ㊻ \quad 80 \\ \times 13 \\ \hline 1040 \end{array}$$

$$\begin{array}{r} ㊼ \quad 33 \\ \times 51 \\ \hline 1683 \end{array}$$

$$\begin{array}{r} ㊽ \quad 73 \\ \times 92 \\ \hline 6716 \end{array}$$

$$\begin{array}{r} ㊾ \quad 89 \\ \times 20 \\ \hline 1780 \end{array}$$

$$\begin{array}{r} ㊿ \quad 30 \\ \times 96 \\ \hline 2880 \end{array}$$

$$\begin{array}{r} ㊶ \quad 30 \\ \times 95 \\ \hline 2850 \end{array}$$

$$\begin{array}{r} ㊷ \quad 91 \\ \times 21 \\ \hline 1911 \end{array}$$

$$\begin{array}{r} ㊸ \quad 70 \\ \times 94 \\ \hline 6580 \end{array}$$

$$\begin{array}{r} ㊹ \quad 80 \\ \times 84 \\ \hline 6720 \end{array}$$

$$\begin{array}{r} ㊺ \quad 50 \\ \times 38 \\ \hline 1900 \end{array}$$

$$\begin{array}{r} ㊻ \quad 81 \\ \times 22 \\ \hline 1782 \end{array}$$

$$\begin{array}{r} ㊼ \quad 92 \\ \times 64 \\ \hline 5888 \end{array}$$

$$\begin{array}{r} ㊽ \quad 82 \\ \times 44 \\ \hline 3608 \end{array}$$

$$\begin{array}{r} ㊾ \quad 15 \\ \times 29 \\ \hline 435 \end{array}$$

$$\begin{array}{r} ㊿ \quad 16 \\ \times 16 \\ \hline 256 \end{array}$$

$$\begin{array}{r} ㊶ \quad 15 \\ \times 24 \\ \hline 360 \end{array}$$

$$\begin{array}{r} ㊷ \quad 54 \\ \times 42 \\ \hline 2268 \end{array}$$

$$\begin{array}{r} ㊸ \quad 35 \\ \times 16 \\ \hline 560 \end{array}$$

$$\begin{array}{r} ㊹ \quad 25 \\ \times 91 \\ \hline 2275 \end{array}$$

$$\begin{array}{r} ㊺ \quad 51 \\ \times 42 \\ \hline 2142 \end{array}$$

$$\begin{array}{r} ㊻ \quad 41 \\ \times 74 \\ \hline 3034 \end{array}$$

$$\begin{array}{r} ㊼ \quad 90 \\ \times 89 \\ \hline 8010 \end{array}$$

$$\begin{array}{r} ㊽ \quad 81 \\ \times 88 \\ \hline 7128 \end{array}$$

$$\begin{array}{r} ㊾ \quad 91 \\ \times 93 \\ \hline 8463 \end{array}$$

$$\begin{array}{r} ㊿ \quad 71 \\ \times 45 \\ \hline 3195 \end{array}$$

$$\begin{array}{r} \textcircled{1} \quad 23 \\ \times 93 \\ \hline 2139 \end{array} \quad \begin{array}{r} \textcircled{2} \quad 60 \\ \times 62 \\ \hline 3720 \end{array} \quad \begin{array}{r} \textcircled{3} \quad 61 \\ \times 91 \\ \hline 5551 \end{array} \quad \begin{array}{r} \textcircled{4} \quad 70 \\ \times 98 \\ \hline 6860 \end{array} \quad \begin{array}{r} \textcircled{5} \quad 52 \\ \times 24 \\ \hline 1248 \end{array} \quad \begin{array}{r} \textcircled{6} \quad 31 \\ \times 82 \\ \hline 2542 \end{array} \quad \begin{array}{r} \textcircled{7} \quad 76 \\ \times 12 \\ \hline 912 \end{array} \quad \begin{array}{r} \textcircled{8} \quad 55 \\ \times 90 \\ \hline 4950 \end{array} \quad \begin{array}{r} \textcircled{9} \quad 41 \\ \times 45 \\ \hline 1845 \end{array} \quad \begin{array}{r} \textcircled{10} \quad 92 \\ \times 80 \\ \hline 7360 \end{array}$$

$$\begin{array}{r} \textcircled{11} \quad 45 \\ \times 40 \\ \hline 1800 \end{array} \quad \begin{array}{r} \textcircled{12} \quad 49 \\ \times 51 \\ \hline 2499 \end{array} \quad \begin{array}{r} \textcircled{13} \quad 49 \\ \times 80 \\ \hline 3920 \end{array} \quad \begin{array}{r} \textcircled{14} \quad 61 \\ \times 71 \\ \hline 4331 \end{array} \quad \begin{array}{r} \textcircled{15} \quad 19 \\ \times 47 \\ \hline 893 \end{array} \quad \begin{array}{r} \textcircled{16} \quad 51 \\ \times 43 \\ \hline 2193 \end{array} \quad \begin{array}{r} \textcircled{17} \quad 44 \\ \times 13 \\ \hline 572 \end{array} \quad \begin{array}{r} \textcircled{18} \quad 90 \\ \times 14 \\ \hline 1260 \end{array} \quad \begin{array}{r} \textcircled{19} \quad 51 \\ \times 56 \\ \hline 2856 \end{array} \quad \begin{array}{r} \textcircled{20} \quad 25 \\ \times 37 \\ \hline 925 \end{array}$$

$$\begin{array}{r} \textcircled{21} \quad 80 \\ \times 13 \\ \hline 1040 \end{array} \quad \begin{array}{r} \textcircled{22} \quad 80 \\ \times 85 \\ \hline 6800 \end{array} \quad \begin{array}{r} \textcircled{23} \quad 40 \\ \times 35 \\ \hline 1400 \end{array} \quad \begin{array}{r} \textcircled{24} \quad 61 \\ \times 27 \\ \hline 1647 \end{array} \quad \begin{array}{r} \textcircled{25} \quad 82 \\ \times 91 \\ \hline 7462 \end{array} \quad \begin{array}{r} \textcircled{26} \quad 99 \\ \times 11 \\ \hline 1089 \end{array} \quad \begin{array}{r} \textcircled{27} \quad 33 \\ \times 42 \\ \hline 1386 \end{array} \quad \begin{array}{r} \textcircled{28} \quad 48 \\ \times 12 \\ \hline 576 \end{array} \quad \begin{array}{r} \textcircled{29} \quad 96 \\ \times 91 \\ \hline 8736 \end{array} \quad \begin{array}{r} \textcircled{30} \quad 12 \\ \times 25 \\ \hline 300 \end{array}$$

$$\begin{array}{r} \textcircled{31} \quad 96 \\ \times 11 \\ \hline 1056 \end{array} \quad \begin{array}{r} \textcircled{32} \quad 80 \\ \times 67 \\ \hline 5360 \end{array} \quad \begin{array}{r} \textcircled{33} \quad 71 \\ \times 31 \\ \hline 2201 \end{array} \quad \begin{array}{r} \textcircled{34} \quad 60 \\ \times 29 \\ \hline 1740 \end{array} \quad \begin{array}{r} \textcircled{35} \quad 15 \\ \times 38 \\ \hline 570 \end{array} \quad \begin{array}{r} \textcircled{36} \quad 55 \\ \times 12 \\ \hline 660 \end{array} \quad \begin{array}{r} \textcircled{37} \quad 17 \\ \times 48 \\ \hline 816 \end{array} \quad \begin{array}{r} \textcircled{38} \quad 43 \\ \times 80 \\ \hline 3440 \end{array} \quad \begin{array}{r} \textcircled{39} \quad 30 \\ \times 77 \\ \hline 2310 \end{array} \quad \begin{array}{r} \textcircled{40} \quad 47 \\ \times 51 \\ \hline 2397 \end{array}$$

$$\begin{array}{r} \textcircled{41} \quad 80 \\ \times 42 \\ \hline 3360 \end{array} \quad \begin{array}{r} \textcircled{42} \quad 23 \\ \times 72 \\ \hline 1656 \end{array} \quad \begin{array}{r} \textcircled{43} \quad 97 \\ \times 61 \\ \hline 5917 \end{array} \quad \begin{array}{r} \textcircled{44} \quad 33 \\ \times 29 \\ \hline 957 \end{array} \quad \begin{array}{r} \textcircled{45} \quad 61 \\ \times 78 \\ \hline 4758 \end{array} \quad \begin{array}{r} \textcircled{46} \quad 70 \\ \times 96 \\ \hline 6720 \end{array} \quad \begin{array}{r} \textcircled{47} \quad 70 \\ \times 78 \\ \hline 5460 \end{array} \quad \begin{array}{r} \textcircled{48} \quad 12 \\ \times 19 \\ \hline 228 \end{array} \quad \begin{array}{r} \textcircled{49} \quad 97 \\ \times 61 \\ \hline 5917 \end{array} \quad \begin{array}{r} \textcircled{50} \quad 86 \\ \times 90 \\ \hline 7740 \end{array}$$

$$\begin{array}{r} \textcircled{51} \quad 92 \\ \times 84 \\ \hline 7728 \end{array} \quad \begin{array}{r} \textcircled{52} \quad 47 \\ \times 15 \\ \hline 705 \end{array} \quad \begin{array}{r} \textcircled{53} \quad 81 \\ \times 42 \\ \hline 3402 \end{array} \quad \begin{array}{r} \textcircled{54} \quad 73 \\ \times 51 \\ \hline 3723 \end{array} \quad \begin{array}{r} \textcircled{55} \quad 18 \\ \times 39 \\ \hline 702 \end{array} \quad \begin{array}{r} \textcircled{56} \quad 82 \\ \times 33 \\ \hline 2706 \end{array} \quad \begin{array}{r} \textcircled{57} \quad 97 \\ \times 61 \\ \hline 5917 \end{array} \quad \begin{array}{r} \textcircled{58} \quad 69 \\ \times 71 \\ \hline 4899 \end{array} \quad \begin{array}{r} \textcircled{59} \quad 19 \\ \times 80 \\ \hline 1520 \end{array} \quad \begin{array}{r} \textcircled{60} \quad 53 \\ \times 53 \\ \hline 2809 \end{array}$$

$$\begin{array}{r} \textcircled{61} \quad 81 \\ \times 82 \\ \hline 6642 \end{array} \quad \begin{array}{r} \textcircled{62} \quad 75 \\ \times 12 \\ \hline 900 \end{array} \quad \begin{array}{r} \textcircled{63} \quad 17 \\ \times 54 \\ \hline 918 \end{array} \quad \begin{array}{r} \textcircled{64} \quad 29 \\ \times 24 \\ \hline 696 \end{array} \quad \begin{array}{r} \textcircled{65} \quad 32 \\ \times 71 \\ \hline 2272 \end{array} \quad \begin{array}{r} \textcircled{66} \quad 92 \\ \times 54 \\ \hline 4968 \end{array} \quad \begin{array}{r} \textcircled{67} \quad 21 \\ \times 66 \\ \hline 1386 \end{array} \quad \begin{array}{r} \textcircled{68} \quad 66 \\ \times 12 \\ \hline 792 \end{array} \quad \begin{array}{r} \textcircled{69} \quad 62 \\ \times 90 \\ \hline 5580 \end{array} \quad \begin{array}{r} \textcircled{70} \quad 24 \\ \times 50 \\ \hline 1200 \end{array}$$

$$\begin{array}{r} \textcircled{71} \quad 61 \\ \times 28 \\ \hline 1708 \end{array} \quad \begin{array}{r} \textcircled{72} \quad 53 \\ \times 63 \\ \hline 3339 \end{array} \quad \begin{array}{r} \textcircled{73} \quad 32 \\ \times 72 \\ \hline 2304 \end{array} \quad \begin{array}{r} \textcircled{74} \quad 55 \\ \times 17 \\ \hline 935 \end{array} \quad \begin{array}{r} \textcircled{75} \quad 88 \\ \times 71 \\ \hline 6248 \end{array} \quad \begin{array}{r} \textcircled{76} \quad 70 \\ \times 93 \\ \hline 6510 \end{array} \quad \begin{array}{r} \textcircled{77} \quad 70 \\ \times 35 \\ \hline 2450 \end{array} \quad \begin{array}{r} \textcircled{78} \quad 13 \\ \times 81 \\ \hline 1053 \end{array} \quad \begin{array}{r} \textcircled{79} \quad 54 \\ \times 71 \\ \hline 3834 \end{array} \quad \begin{array}{r} \textcircled{80} \quad 34 \\ \times 62 \\ \hline 2108 \end{array}$$

$$\begin{array}{r} \textcircled{81} \quad 28 \\ \times 26 \\ \hline 728 \end{array} \quad \begin{array}{r} \textcircled{82} \quad 25 \\ \times 60 \\ \hline 1500 \end{array} \quad \begin{array}{r} \textcircled{83} \quad 35 \\ \times 50 \\ \hline 1750 \end{array} \quad \begin{array}{r} \textcircled{84} \quad 24 \\ \times 80 \\ \hline 1920 \end{array} \quad \begin{array}{r} \textcircled{85} \quad 52 \\ \times 31 \\ \hline 1612 \end{array} \quad \begin{array}{r} \textcircled{86} \quad 32 \\ \times 83 \\ \hline 2656 \end{array} \quad \begin{array}{r} \textcircled{87} \quad 34 \\ \times 62 \\ \hline 2108 \end{array} \quad \begin{array}{r} \textcircled{88} \quad 30 \\ \times 85 \\ \hline 2550 \end{array} \quad \begin{array}{r} \textcircled{89} \quad 81 \\ \times 98 \\ \hline 7938 \end{array} \quad \begin{array}{r} \textcircled{90} \quad 96 \\ \times 41 \\ \hline 3936 \end{array}$$

$$\begin{array}{r} \textcircled{91} \quad 26 \\ \times 32 \\ \hline 832 \end{array} \quad \begin{array}{r} \textcircled{92} \quad 33 \\ \times 17 \\ \hline 561 \end{array} \quad \begin{array}{r} \textcircled{93} \quad 41 \\ \times 89 \\ \hline 3649 \end{array} \quad \begin{array}{r} \textcircled{94} \quad 72 \\ \times 50 \\ \hline 3600 \end{array} \quad \begin{array}{r} \textcircled{95} \quad 39 \\ \times 25 \\ \hline 975 \end{array} \quad \begin{array}{r} \textcircled{96} \quad 49 \\ \times 70 \\ \hline 3430 \end{array} \quad \begin{array}{r} \textcircled{97} \quad 41 \\ \times 68 \\ \hline 2788 \end{array} \quad \begin{array}{r} \textcircled{98} \quad 24 \\ \times 16 \\ \hline 384 \end{array} \quad \begin{array}{r} \textcircled{99} \quad 87 \\ \times 61 \\ \hline 5307 \end{array} \quad \begin{array}{r} \textcircled{100} \quad 68 \\ \times 70 \\ \hline 4760 \end{array}$$

$$\begin{array}{r} ① \quad 93 \\ \times 32 \\ \hline 2976 \end{array}$$

$$\begin{array}{r} ② \quad 74 \\ \times 40 \\ \hline 2960 \end{array}$$

$$\begin{array}{r} ③ \quad 28 \\ \times 80 \\ \hline 2240 \end{array}$$

$$\begin{array}{r} ④ \quad 24 \\ \times 71 \\ \hline 1704 \end{array}$$

$$\begin{array}{r} ⑤ \quad 33 \\ \times 90 \\ \hline 2970 \end{array}$$

$$\begin{array}{r} ⑥ \quad 18 \\ \times 15 \\ \hline 270 \end{array}$$

$$\begin{array}{r} ⑦ \quad 63 \\ \times 23 \\ \hline 1449 \end{array}$$

$$\begin{array}{r} ⑧ \quad 74 \\ \times 32 \\ \hline 2368 \end{array}$$

$$\begin{array}{r} ⑨ \quad 26 \\ \times 35 \\ \hline 910 \end{array}$$

$$\begin{array}{r} ⑩ \quad 64 \\ \times 81 \\ \hline 5184 \end{array}$$

$$\begin{array}{r} ⑪ \quad 53 \\ \times 63 \\ \hline 3339 \end{array}$$

$$\begin{array}{r} ⑫ \quad 94 \\ \times 42 \\ \hline 3948 \end{array}$$

$$\begin{array}{r} ⑬ \quad 89 \\ \times 91 \\ \hline 8099 \end{array}$$

$$\begin{array}{r} ⑭ \quad 56 \\ \times 15 \\ \hline 840 \end{array}$$

$$\begin{array}{r} ⑮ \quad 50 \\ \times 27 \\ \hline 1350 \end{array}$$

$$\begin{array}{r} ⑯ \quad 95 \\ \times 11 \\ \hline 1045 \end{array}$$

$$\begin{array}{r} ⑰ \quad 61 \\ \times 64 \\ \hline 3904 \end{array}$$

$$\begin{array}{r} ⑱ \quad 59 \\ \times 14 \\ \hline 826 \end{array}$$

$$\begin{array}{r} ⑲ \quad 32 \\ \times 52 \\ \hline 1664 \end{array}$$

$$\begin{array}{r} ⑳ \quad 46 \\ \times 19 \\ \hline 874 \end{array}$$

$$\begin{array}{r} ㉑ \quad 83 \\ \times 80 \\ \hline 6640 \end{array}$$

$$\begin{array}{r} ㉒ \quad 92 \\ \times 41 \\ \hline 3772 \end{array}$$

$$\begin{array}{r} ㉓ \quad 90 \\ \times 46 \\ \hline 4140 \end{array}$$

$$\begin{array}{r} ㉔ \quad 89 \\ \times 90 \\ \hline 8010 \end{array}$$

$$\begin{array}{r} ㉕ \quad 91 \\ \times 77 \\ \hline 7007 \end{array}$$

$$\begin{array}{r} ㉖ \quad 30 \\ \times 65 \\ \hline 1950 \end{array}$$

$$\begin{array}{r} ㉗ \quad 52 \\ \times 52 \\ \hline 2704 \end{array}$$

$$\begin{array}{r} ㉘ \quad 41 \\ \times 81 \\ \hline 3321 \end{array}$$

$$\begin{array}{r} ㉙ \quad 69 \\ \times 31 \\ \hline 2139 \end{array}$$

$$\begin{array}{r} ㉚ \quad 40 \\ \times 56 \\ \hline 2240 \end{array}$$

$$\begin{array}{r} ㉛ \quad 80 \\ \times 36 \\ \hline 2880 \end{array}$$

$$\begin{array}{r} ㉜ \quad 14 \\ \times 45 \\ \hline 630 \end{array}$$

$$\begin{array}{r} ㉝ \quad 28 \\ \times 29 \\ \hline 812 \end{array}$$

$$\begin{array}{r} ㉞ \quad 32 \\ \times 64 \\ \hline 2048 \end{array}$$

$$\begin{array}{r} ㉟ \quad 50 \\ \times 64 \\ \hline 3200 \end{array}$$

$$\begin{array}{r} ㊱ \quad 97 \\ \times 41 \\ \hline 3977 \end{array}$$

$$\begin{array}{r} ㊲ \quad 93 \\ \times 12 \\ \hline 1116 \end{array}$$

$$\begin{array}{r} ㊳ \quad 91 \\ \times 32 \\ \hline 2912 \end{array}$$

$$\begin{array}{r} ㊴ \quad 84 \\ \times 31 \\ \hline 2604 \end{array}$$

$$\begin{array}{r} ㊵ \quad 82 \\ \times 22 \\ \hline 1804 \end{array}$$

$$\begin{array}{r} ㊶ \quad 16 \\ \times 27 \\ \hline 432 \end{array}$$

$$\begin{array}{r} ㊷ \quad 85 \\ \times 51 \\ \hline 4335 \end{array}$$

$$\begin{array}{r} ㊸ \quad 82 \\ \times 74 \\ \hline 6068 \end{array}$$

$$\begin{array}{r} ㊹ \quad 18 \\ \times 17 \\ \hline 306 \end{array}$$

$$\begin{array}{r} ㊺ \quad 34 \\ \times 17 \\ \hline 578 \end{array}$$

$$\begin{array}{r} ㊻ \quad 94 \\ \times 61 \\ \hline 5734 \end{array}$$

$$\begin{array}{r} ㊼ \quad 62 \\ \times 41 \\ \hline 2542 \end{array}$$

$$\begin{array}{r} ㊽ \quad 17 \\ \times 19 \\ \hline 323 \end{array}$$

$$\begin{array}{r} ㊾ \quad 75 \\ \times 30 \\ \hline 2250 \end{array}$$

$$\begin{array}{r} ㊿ \quad 51 \\ \times 99 \\ \hline 5049 \end{array}$$

$$\begin{array}{r} ① \quad 12 \\ \times 45 \\ \hline 540 \end{array}$$

$$\begin{array}{r} ② \quad 69 \\ \times 70 \\ \hline 4830 \end{array}$$

$$\begin{array}{r} ③ \quad 47 \\ \times 30 \\ \hline 1410 \end{array}$$

$$\begin{array}{r} ④ \quad 44 \\ \times 17 \\ \hline 748 \end{array}$$

$$\begin{array}{r} ⑤ \quad 72 \\ \times 21 \\ \hline 1512 \end{array}$$

$$\begin{array}{r} ⑥ \quad 75 \\ \times 20 \\ \hline 1500 \end{array}$$

$$\begin{array}{r} ⑦ \quad 43 \\ \times 17 \\ \hline 731 \end{array}$$

$$\begin{array}{r} ⑧ \quad 32 \\ \times 41 \\ \hline 1312 \end{array}$$

$$\begin{array}{r} ⑨ \quad 71 \\ \times 69 \\ \hline 4899 \end{array}$$

$$\begin{array}{r} ⑩ \quad 53 \\ \times 23 \\ \hline 1219 \end{array}$$

$$\begin{array}{r} ⑪ \quad 99 \\ \times 30 \\ \hline 2970 \end{array}$$

$$\begin{array}{r} ⑫ \quad 63 \\ \times 14 \\ \hline 882 \end{array}$$

$$\begin{array}{r} ⑬ \quad 48 \\ \times 13 \\ \hline 624 \end{array}$$

$$\begin{array}{r} ⑭ \quad 86 \\ \times 61 \\ \hline 5246 \end{array}$$

$$\begin{array}{r} ⑮ \quad 14 \\ \times 25 \\ \hline 350 \end{array}$$

$$\begin{array}{r} ⑯ \quad 28 \\ \times 61 \\ \hline 1708 \end{array}$$

$$\begin{array}{r} ⑰ \quad 82 \\ \times 80 \\ \hline 6560 \end{array}$$

$$\begin{array}{r} ⑱ \quad 26 \\ \times 36 \\ \hline 936 \end{array}$$

$$\begin{array}{r} ⑲ \quad 39 \\ \times 19 \\ \hline 741 \end{array}$$

$$\begin{array}{r} ㉚ \quad 96 \\ \times 30 \\ \hline 2880 \end{array}$$

$$\begin{array}{r} ㉛ \quad 68 \\ \times 20 \\ \hline 1360 \end{array}$$

$$\begin{array}{r} ㉜ \quad 27 \\ \times 50 \\ \hline 1350 \end{array}$$

$$\begin{array}{r} ㉝ \quad 46 \\ \times 14 \\ \hline 644 \end{array}$$

$$\begin{array}{r} ㉞ \quad 24 \\ \times 24 \\ \hline 576 \end{array}$$

$$\begin{array}{r} ㉟ \quad 38 \\ \times 13 \\ \hline 494 \end{array}$$

$$\begin{array}{r} ㊱ \quad 30 \\ \times 35 \\ \hline 1050 \end{array}$$

$$\begin{array}{r} ㊲ \quad 30 \\ \times 98 \\ \hline 2940 \end{array}$$

$$\begin{array}{r} ㊳ \quad 25 \\ \times 71 \\ \hline 1775 \end{array}$$

$$\begin{array}{r} ㊴ \quad 34 \\ \times 18 \\ \hline 612 \end{array}$$

$$\begin{array}{r} ㊵ \quad 26 \\ \times 13 \\ \hline 338 \end{array}$$

$$\begin{array}{r} ㊶ \quad 92 \\ \times 52 \\ \hline 4784 \end{array}$$

$$\begin{array}{r} ㊷ \quad 50 \\ \times 56 \\ \hline 2800 \end{array}$$

$$\begin{array}{r} ㊸ \quad 15 \\ \times 59 \\ \hline 885 \end{array}$$

$$\begin{array}{r} ㊹ \quad 34 \\ \times 25 \\ \hline 850 \end{array}$$

$$\begin{array}{r} ㊺ \quad 25 \\ \times 91 \\ \hline 2275 \end{array}$$

$$\begin{array}{r} ㊻ \quad 91 \\ \times 78 \\ \hline 7098 \end{array}$$

$$\begin{array}{r} ㊼ \quad 40 \\ \times 68 \\ \hline 2720 \end{array}$$

$$\begin{array}{r} ㊽ \quad 31 \\ \times 96 \\ \hline 2976 \end{array}$$

$$\begin{array}{r} ㊾ \quad 45 \\ \times 17 \\ \hline 765 \end{array}$$

$$\begin{array}{r} ㊿ \quad 13 \\ \times 25 \\ \hline 325 \end{array}$$

$$\begin{array}{r} ㉑ \quad 29 \\ \times 24 \\ \hline 696 \end{array}$$

$$\begin{array}{r} ㉒ \quad 71 \\ \times 81 \\ \hline 5751 \end{array}$$

$$\begin{array}{r} ㉓ \quad 34 \\ \times 42 \\ \hline 1428 \end{array}$$

$$\begin{array}{r} ㉔ \quad 63 \\ \times 81 \\ \hline 5103 \end{array}$$

$$\begin{array}{r} ㉕ \quad 90 \\ \times 46 \\ \hline 4140 \end{array}$$

$$\begin{array}{r} ㉖ \quad 74 \\ \times 62 \\ \hline 4588 \end{array}$$

$$\begin{array}{r} ㉗ \quad 51 \\ \times 81 \\ \hline 4131 \end{array}$$

$$\begin{array}{r} ㉘ \quad 80 \\ \times 59 \\ \hline 4720 \end{array}$$

$$\begin{array}{r} ㉙ \quad 60 \\ \times 99 \\ \hline 5940 \end{array}$$

$$\begin{array}{r} ㉚ \quad 89 \\ \times 90 \\ \hline 8010 \end{array}$$